Request for Construction Change

CHANGE IN CONTRACT PRICE:

Original Contract Price \$12,124,758.73

Net Increase (Decrease) from previous Change Orders

\$195,185.74

Contract Price prior to this Change Order: \$12,319,944.47

Net increase (decrease) of this Change Order: (\$321,657.24)

Contract Price with all approved Change Orders: \$11,998,287.23

CHANGE IN CONTRACT TIMES:

Original Contract Times:

Substantial Completion: *****

Ready for final payment: May 12, 2014 (455 days)

Net change from previous Change Orders and Work

Change Directives:

Substantial Completion: *****

Ready for final payment: Add 102 calendar days

Contract Times prior to this Change Order:

Substantial Completion: *****

Ready for final payment: August 22, 2014 (557 days)

Net increase (decrease) this Change Order:

Substantial Completion: *****

Ready for final payment: August 22, 2014 (557 days)

Contract Times with all approved Change Orders:

Substantial Completion: *****

Ready for final payment: August 22, 2014 (557 days)

Change Order No. 3 FINAL

City of Franklin

Engineering Office
109 Third Avenue South

Franklin, TN 37064

Contract No.

2012-0110

Project

Hillsboro Road Improvements (SR 106, US-431) From New Hwy 96

West to Independence Square

Whereas, we <u>Civil Constructors, Inc.</u> entered into an contract with the CITY OF FRANKLIN, on <u>December 11, 2012</u>, for the construction by said Contractor of the above designated contract; and Whereas, certain items of construction encountered are not covered by the original contract, we desire to submit the following additional items of construction to be performed by the Contractor and paid by the City at the prices scheduled therefore below:

Reason for Change Order:

1. Final reconciliation of all miscellaneous overruns and underruns of pay items for project closeout.

Attachments (List documents supporting change):

Final pay application request from Civil Constructors, Inc. and water bill invoice.

Item No.	Description of Work	Unit	Estimate Quantity	Unit Price	Amount
	Miscellaneous pay item quantity over runs and under runs				(\$321,657.24)
TOTAL			1		(\$321,657.24)

Now, Therefore, We, <u>Civil Constructors, Inc.</u>, hereby agree to this Supplemental Agreement consisting of the above mentioned items and prices, and agree that this Supplemental Agreement is hereby made a part of the original contract and will be performed by this Contractor in accordance with specifications thereof, and that the original contract remain in full force and effect, except in so far as specifically modified by this supplemental Agreement.

RECOMMENDED FOR APPROVA	L BY:	
By: Find Find Find Find Find Find Find Find	By: CITY PROJECT MANAGER	By:
Date: 11/14/16	_ Date:11/14/2016	Date:
ACCEPTED		
By: CONTRACTOR (Authorized Sign	ature)	By: Surety (Authorized Signature)
Date:	_	Date:
APPROVED:		
Ву:		
OWNER (Authorized Signature)		
Doto		



TO: City of Franklin
Engineering Department
109 Third Avenue South Franklin, TN

Attn: William Banks

City of Franklin Project # 2012-0110 TDOT PIN # 114318 SEI Project # 801

From: Civil Constructors, Inc. P.O. Box 685 Franklin, TN 37065 Attn: John Basinger (615) 236-9000

04/1/2016 thru Estimate Period: 9/30/2016

Estimate #:

27

Date:

October 27, 2016

** Partial Billing **

Project: Hillsboro Rd Improvements New Hwy 96 West to Independnece Sq

ORIGINAL CONTRACT AMOUNT

\$ 12,124,768.73

				a Fredhall Con	Work Completed		Materials Put Into			
Pay Item	Pay item Description	Quantity	Unit		Unit Price	Current Quantity	Previous Quantity	Storage This Period	Total Completed and Stored To Date	To-Date Quantity
104-04.02	ADDITIONAL COMPENSATION (TRAFFIC CONTROL)	1.000	L.S.	5	10,192.00		1.00		\$ 10,192.00	4.0
105-01	CONSTRUCTION STAKES, LINES AND GRADES	1.000		\$	78,800.00		1.00		\$ 78,800,00	1.00
201-01	CLEARING AND GRUBBING	1.000		\$	37,370.00		1.00		\$ 37,370.00	1,00
202-01	REMOVAL OF STRUCTURES AND OBSTRUCTIONS ((NOLLOED BUT NOT LIMITED TO ITEMS SUCH AS SIGNS, FENCES, BRICK COLUMNS, CONCRETE CURBS, MAILBOXES AND ALL OTHER ITEMS WITHIN THE GRADING LIMITS UNLESS OTHERWISE NOTED)	1,000	L.S.	\$	12,920.00	·	1.00		\$ 12,920,00	1.00
203-01	ROAD & DRAINAGE EXCAVATION (UNCLASSIFIED)	18,565,000		\$	19.40		19,751.00		\$ 383,159,40	19,751.00
203-02.03	ROCK FILTER	1.000	TON	\$	18.40		4,422.50		\$ 81,374.00	4,422.50
203-05	UNDERCUTTING (UNIT PRICE INCLUDES MINERAL AGGREGATE (SURGE STONE) BACKFILL)	2,785.000	C.Y.	\$	35.80		4,324.15		\$ 154,804.57	4,324.15
203-06	WATER	1,228.000	M.G.	\$	9.40	442.85	1,768.00		\$ 20,782.00	2,210.85
203-07	FURNISHING & SPREADING TOPSOIL	2,428.000	C.Y.	\$	13.00	-	3,983.00		\$ 51,779.00	3,983.00
204-07	BEDDING MATERIAL (PIPE) CLASS "B"	1,344.000	C.Y.	\$	28.90		1,021.76		\$ 29,528.86	1,021.76
204-08.01	BACKFILL MATERIAL (FLOWABLE FILL), (INCLUDES 795 C.Y. FOR WATER AND SEWER WORK)	1,008.000	C.Y.	\$	68.00	(9.1	64.00		\$ 4,352.00	64.00
209-05	SEDIMENT REMOVAL	131.000	C.Y.	\$	12.50	-	45.00		\$ 562.50	45.00
209-08.01	TEMPORARY FILTER BARRIER, (AFTER THE INITIAL INSTALLATION ALL COST ASSOCIATED WITH REPAIR, MAINTENANCE	2,230.000		\$	1.40		890.00		\$ 1,246.00	890.00
209-08.07	ROCK CHECK DAM ("V-DITCH", 2'+/- DEPTH, OR AS DIRECTED BY THE ENGINEER)	4.000	EACH	\$	270.00		4.00		\$ 1,080.00	4,00
209-40.33	CATCH BASIN PROTECTION (TYPE D), (AFTER THE INTIAL INSTALLATION ALL COST ASSOCIATED WITH REPAIR, MAINTENANCE	6.000	EACH	\$	162.00		28.00		\$ 4,536.00	28.00
209-40.42	CATCH BASIN FILTER ASSEMBLY (TYPE 2), (AFTER THE INITIAL INSTALLATION ALL COST ASSOCIATE WITH REPAIR AND MAINTENANCE)	262,000	EACH	\$	378.00		-		\$ -	•
209-40.46	CATCH BASIN FILTER ASSEMBLY (TYPE 6), (AFTER THE INITIAL INSTALLATION ALL COST ASSOCIATED WITH REPAIR AND MAINTENANCE)	27.000	EACH	\$	378.00		5.00		\$ 1,890.00	5,00
303-01	MINERAL AGGREGATE TYPE A BASE GRADING "D", (INCLUDES 789 TONS FOR STONE WEDGE)	23,360.000	TON	\$	16,20	-	19,782.59		\$ 320,477.96	19,782.59
07-02.01	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING A	7,819.000	TON	\$	73,30	4-	4,257.65		\$ 312,085.75	4,257.65
07-02.02	ASPHALT CEMENT (PG70-22) (BPMB-HM) GRADING A-S	199,000	TON	\$	829.00	-	89.26		\$ 73,996.54	89.26
07-02.03	AGGREGATE (BPMB-HM) GRADING A-S MIX	5,921.000	TON	\$	43.50		2,885.42		\$ 125,515.77	2,885.42
07-02.08	ASPHALT CONCRETE MIX (PG70-22) (BPMB-HM) GRADING B-M2, (INCLUDES 1,650 TONS FOR WATER AND SEWER WORK)	3,842.000	TON	\$	69.50	·	3,863.07		\$ 345,744.77	3,863.07
02-01	BITUMINOUS MATERIAL FOR PRIME COAT (PC), (INCLUDES 15 TONS FOR MAINTENANCE OF TRAFFIC)	69,000	TON	\$	703.00		12.59		\$ 8,850,77	12,59
02-02	AGGREGATE FOR COVER MATERIAL (PC), (INCLUDES 57 TONS FOR MAINTENANCE FO TRAFFIC)	272.000	TON	\$	43.30	-	137.91		\$ 5,971.50	137.91
03-01	BITUMINOUS MATERIAL FOR TACK COAT (TC), (INCLUDES 1 TONS FOR MAINTENANCE OF TRAFFIC AND 0.28 TONS FOR WATER AND SEWER WORK)	33.000	TON	\$	730.00	-	4.46		\$ 3,255.80	4.46
07-20.05	SAW CUTTING ASPHALT PAVEMENT, (TO BE USED AS DIRECTED BY THE ENGINEER FOR CONNECTIONS AT EXISTING ROADWAYS)	8,090,000	L.F.	\$	1.75	*	14,841.00		\$ 25,971.75	14,841.00
11-02.10	ACS MIX (PG70-22) GRADING D, (INCLUDES 345 TONS FOR WATER AND SEWER WORK)	2,711.000	TON	\$	108.00	-	3,608.56		\$ 389,724.48	3,608.56
15-01.02	COLD PLANING BITUMINOUS PAVEMENT, (DEPTH 1.25" +/- TO BE USED AS DIRECTED BY THE ENGINEER)	4,141.000	S.Y.	\$	2.75	•	24,567,00		67,559.25	24,567.00
04-08.10	RETAINING WALL #1, 3-TIER WESTBLOCK WALL SYSTEM (STA. 215+39 +/- TO STA. 230+75+/-)	13,420.000	S.F.	\$	34.20	~	13,420,00	!	458,964.00	13,420.00
04-08.11	RETAINING WALL #2, 2 TIER WESTBLOCK WALL SYSTEM (STA. 224+50+/- TO STA. 230+75+/-)	7,964.000	S.F.	\$	36.70		7,964.00		292,278.80	7,964.00
04-08.12	RETAINING WALL #2 CAST-IN-PLACE (STA. 220+90+/- TO STA. 222+55+/-)	2,179.000	S.F.	\$	141.00		2,258.25		318,413.25	2,258.25
	RETAINING WALL CAST-IN-PLACE (STA. 212+25+/- (LT) TO STA. 213+29+/- (LT)	780,000	S.F.	s	70.30	-	743.18	5	52,245,55	743.18

604-08.14	RETAINING WALL CAST-IN-PLACE (STA. 231+25+/-	548,000	S.F.	\$	70.30	_	554.84		\$ 39,005.25	554.84
607-03.02	(RT) TO STA, 213+89+/- (RT) 18" CONCRETE PIPE CULVERT (CLASS III)	4,078.000		\$	41.90		3,889.00		\$ 162,949.10	
607-03.30	18" CONCRETE PIPE CULVERT (ADVANCE DRAINAGE			\$	35,60		0,000.00		\$ 102,040.10	3,000.00
	SYSTEM, INC. (ADS) N-12 HIGH PERFORMANCE (HP) 24" CONCRETE PIPE CULVERT (CLASS III)	1,132.000	1	\$	57.30		1,136,00		\$ 65,092,80	1,138,00
607-05.02 607-10.02	54" CONCRETE PIPE CULVERT (CLASS III)	1.000		\$	208.00			The second secon	\$ 6,656.00	
607-11.03	60" CONCRETE PIPE CULVERT (CLASS III)	278.000	_	\$	218.00		222.00		\$ 48,396.00	
611-07.01 611-07.02	CLASS "A" CONCRETE (PIPE END WALLS) STEEL BAR REINFORCEMENT (PIPE END WALLS)	10.000		\$	677.00 1.60		26.74 1,906.00		\$ 18,102,98 \$ 3,049.60	26.74 1,906.00
611-12.01	CATCH BASINS, TYPE 12, DEPTH 0'-4' (COMPLETE IN-	1.000	EACH	1	2,640.00		1.00		\$ 2,640.00	1.00
611-12.02	PLACE) CATCH BASINS, TYPE 12, DEPTH 4'-8' (COMPLETE IN- PLACE)	25.000	EACH	-	2,890.00		26,00		\$ 75,140.00	26.00
611-12.03	CATCH BASINS, TYPE 12, DEPTH 8'-12' (COMPLETE IN PLACE)	8.000	EACH	\$	4,350.00	-	7.00		\$ 30,450,00	7.00
611-12.04	CATCH BASINS, TYPE 12, DEPTH 12'+ (COMPLETE IN- PLACE)	7,000	EACH	\$	5,470,00	-	1.00		\$ 5,470.00	1.00
611-14.01	CATCH BASINS, TYPE 14, DEPTH 0'-4' (COMPLETE IN- PLACE)		EACH	\$	3,620.00	•	-4		-	-
611-14.02	CATCH BASINS, TYPE 14, DEPTH 4'-8' (COMPLETE IN- PLACE)	9,000	EACH	\$	5,090.00		9.00		45,810.00	9.00
611-14.03	CATCH BASINS, TYPE 14, DEPTH 8'-12' (COMPLETE IN PLACE)	5,000	EACH	\$	10,260.00	-	4.00	1	41,040.00	4.00
611-14.04	CATCH BASINS, TYPE 14, DEPTH 12'+ (COMPLETE IN- PLACE) CATCH BASINS, TYPE 39, DEPTH 4'-8'	2.000	EACH		14,060.00	•	1.00		14,060,00	1.00
611-39,02	(COMPLETE RI-PLACE)	1.000	EACH	\$	3,790.00	-	2.00	\$	7,580.00	2.00
611-42.01	CATCH BASINS, TYPE 42, DEPTH 0'-4" (COMPLETE IN-PLACE)	16,000	EACH	\$	2,020.00	•	15.00	\$	30,300.00	15.00
611-42.02	CATCH BASINS, TYPE 42, DEPTH 4'-8' (COMPLETE IN-PLACE)	1.000	EACH	\$	3,270.00	· .	1.00	\$	3,270,00	1.00
611-02.10	JUNCTION BOX, TYPE 1 (COMPLETE IN-PLACE)	4.000	EACH	8	2,070.00		4.00	- \$	8,280.00	4.00
701-01.02	CONCRETE SIDEWALK (6" THICKNESS W/ FIBER MESH AND 6" AGGREGATE CLASS "A" GRADING "D" BASE, TO BE USED FOR CONCRETE ISLANDS	423.000	S.F.	\$	5.15	-	-	s	-	-
701-02	CONCRETE DRIVEWAY (APPROACH APRON WITHIN RIGHT-OF-WAY, 8" THICKNESS W/FIBER MESH AND 4" AGGREGATE)	8,118,000	S.F.	\$	6.45	-		s		-
701-02.02	CONCRETE DRIVEWAY (8" THICKNESS W/ FIBERMESH AND 4" AGGREGATE CLASS "A" GRADING "D" BASE)	8,118.000	S.F.	\$	6.50	•	10,472.00	\$	68,068.00	10,472.00
702-01.02	CONCRETE CURB (FOR USE WITH CONCRETE ISLANDS)	92.000	L.F.	\$	21.60		-	\$	-	-
702-01.01	EXTRUDED MOUNTABLE CURB	3,325.000	L.F.	\$	4.30	-	73.00	- \$	313.90	73.00
702-03	CONCRETE COMBINED CURB & GUTTER	540,000	C.Y.	\$	184.00	_	720.82		132,630.88	720.82
707-08.11	HIGH-VISIBILITY CONSTRUCTION FENCE (INCLUDES 900 L.F. TO BE USED WITH EROSION CONTROL)	2,500,000	L,F.	\$	1.20	-	3,807.00	\$	4,568.40	3,807.00
710-02	AGGREGATE UNDERDRAINS (WITH PIPE)	7,551.000	L.F.	\$	4.60	-	4,913.00	\$	22,599.80	4,913.00
712-01	TRAFFIC CONCTROL (UNIT PRICE INCLUDES INSTALLATION AND REMOVAL COST OF ALL TEMPORARY PAVEMENT MARKINGS)	1,000	L.S.	\$	82,810.00	-	1.00	\$	82,810.00	1.00
712-02.02	INTERCONNECTED PORTABLE BARRIER RAIL	2,900.000	L.F.	\$	30.50		3,590.00	\$	109,495.00	3,590.00
712-04.01	FLEXIBLE DRUMS (CHANNELIZING), (ESTIMATED QUANTITY IS BASED ON PHASE WHICH REQUIRES HIGHEST QUANTITY)	300.000	EACH	\$	41.10		509.00	\$	20,919.90	509.00
712-04.10	28-INCH TEMPORARY FLEXIBLE TUBULAR DELINEATOR		EACH		37.80	-	_	\$	-	-
	SIGNS (CONSTRUCTION)	864,000			10,00	-	1,605.36 74,00	\$		1,605.36
	VERTICAL PANELS CONSTRUCTION IDENTIFICATION SIGNS	580,000 2,000			9.75		14,00	S	721,50	74.00
712-07.03	TEMPORARY BARRICADES (TYPE III)	432,000	L.F.	\$	31,40	-	184.00	\$	5,777.60	184.00
713-16.04	CHANGEABLE MESSAGE SIGN	2.000	EACH	\$	19,030.00		2,00	\$	38,060,00	2.00
716-12.01	ENHANCED FLATLINE THERMO PAVEMENT MARKING (4" LINE, SSWL, SSYL, DSYL, SBYL & SBWL)	5.707	L.M.	\$	3,140.00	-	5.943	\$	18,661.02	5.943
716-02.05	PLASTIC PAVEMENT MARKING (STOP LINE)	254.000	LF.	\$	13.00		430.00		5,590.00	430.00
716-02.06	PLASTIC PAVEMENT MARKING TURN LANE ARROW (LEFT OR RIGHT)	20.000	EACH	\$	162.00	+	20.00	\$	3,240.00	20.00
716-02,09	PLASTIC PAVEMENT MARKING (LONGITUDINAL CROSS-WALK), (QUANTITY IS CALCULATED FROM FACE OF CURB TO FACE OF CURB)	90,000	L.F.	\$	37,80	-	379.00	\$	14,326.20	379.00
716-04.01	PLASTIC PAVEMENT MARKING (STRAIGHT-TURN ARROW)	4.000	EACH	\$	195,00	-	2.00	\$	390.00	2.00
L	PLASTIC PAVEMENT MARKING (STRAIGHT ARROW)	7.000	EACH	\$	135.00	-	8.00	\$	1,080.00	8.00
716-04.11	PLASTICK PAVEMENT MARKING (BICYCLE SYMBOL WRIDER)		EACH	_	324.00		15.00	\$	4,860.00	15,00
716-04.14	PLASTIC PAVEMENT MARKING (LANE REDUCTION ARROW)		EACH		243.00	-	-	\$	-	•
-	MOBILIZATION				324,335.00	-	1.00 3,386,00	\$	324,335.00	1,00
740-11.02 801-01.07	TEMPORARY SEDIMENT TUBE 12 INCH TEMPORARY SEEDING (WITH MULCH)	3,390.000 97.000		\$	2,70 29.20		528.45	\$	9,142.2D 15,430.74	3,386.00 528.45
	SODDING (NEW SOD, INSTALLATION SHALL BE									
	INSTALLED ON TOPSOIL, TOPSOIL SHALL HAVE A MINIMUM DEPTH OF 6")	9,711.000	S.Y.	\$	2.70	-	6,720.00	\$	18,144.00	6,720.00

The Boat Stock Provide Colored For Mark Brokes 1000 (Park St. 2 - 200.00 1					SIGNALIZATI	ON				
This bill Seek (SEE) Seek	713-16.20	SIGNS (OVERHEAD STREET NAME SIGNS)	10,000	EACH		-	10.00		\$ 25300	10,00
The field Section Se						-				
19.00 19.0	713-16.22	SIGNS (R10-12, 30"X36")					3.00			
The Nation State Control State						-	1.00			1.00
The Res See Girls ModRMER STACK 1.00 S.							-			-
This										-
19.44.53 19.00 1										- 400
SOURCE PROJECT SCIENCE SCIEN										
Section Content Section Co										
19-99-10	713-16.29		1.000	EACH	\$ 282.00		1.00	[\$ 282.00	1.00
19-16-16 GROSS (RECK) (VEYLE)	713.46.30	SIGNS (TRUCK ROUTE SIGN, SOUTHBOUND AND	1,000	EACH	\$ 282.00		1.00		t 200 00	4.00
THE STATE 1.000							1.00		\$ 202.00	1.00
Trigonical Tri										-
1900.027 GROWN LEGO ASSERDING YOUTH SECRETARY 1000 DATE 95(0.0 1400 5 13,000 1 1 1,000 1,000 1,000 1 1,000 1,000 1								\$ -		The state of the s
100-00-00 100-00-00 100-00-00 1						 			\$ 13,314.00	14.00
1900.023 SOUND, READ ASSERBAY (SIX AV MITH RECOPULATE) 2000 BUT 3 900.00 2 0 1 172.00 7 170.00 1 170.00	730-02.17		7.000	EACH	\$ 1,620.00		7.00		\$ 11,340,00	7.00
25.00.01 SETAL, PULL DOX (TYPE IN 20.00) 2.00.01 5. 1.77.810 7. 7. 7. 7. 7. 7. 7. 7	700 00 00		0.000	CAGU	0.000.00		5.00			
	/30-02.30	SIGNAL HEAD ASSEMBLY (130 AZ WITH BACKPLATE)	2.000	EACH	\$ 956.00		2.00		\$ 1,912.00	2.00
Transport Tran		INSTALL PULL BOX (TYPE B)				-		\$ -	\$ 11,745.00	29.00
Trop Section Service CARE CLARRENGER AD Trop Top Section F. 1,40 2,880.00 5 3,750.00 200						-				3.00
750.04.07 SIGNAL CALE S. SCONDICTOR 50.00.00 LF 8 1.20 4.670.00 8 5.00.00 4.677.00 6 5.00.00 4.677.00 8 5.00.00 4.677.00 8 5.00.00 4.677.00 8 5.00.00 4.677.00 4.60.00 8 5.00.00 4.677.00 4.60.00 8 5.00.00 4.677.00 4.60.00 8 5.00.00 4.677.00 4.60.00 8 5.00.00 4.677.00 4.60.00 8 5.00.00 4.60.00						-				180.00
170-08.00 SEMPAL CABLE - FOODWORTH 1,700.000 LF S 1,00 4,670.000 S 5,690.00 4,677.000.000 S 1,000.000							2,685.00			2,685.00
1999-160 SIGNAL CARILE FORCEOCHOPTON \$,300.000 LF. \$ 1.40 4,465.00 \$ 8 0.257.00 4,467.00 1,467.70 1,4							4 670 00			4 070 00
Transition Schall Charle (Perpendicular Presentation CARE) 1,200.0000 1,200.0000 1,200.0000 1,200.0000 1,200.0000 1,200.00000 1,200.00000 1,200.000000 1,200.0000000000000000000000000000000000										4,670.00
150-126 CORRATT * DIMERIER (PVG)										4,455.00
750-7120 CONDUIT 2 DIMERETR (PVC)										1,400.00
170-12-03 CONNUT 3 DIMERTER (PAG)										25,00 2,760.00
Transport Conduct of Disabeter (LACK AND BORS)										1,760.00
730-1309 Vehicle DETECTOR (POCHAMEL, RACK MOUNT) 16.000 Sech! \$ 479.00 6.00 \$ 8, 709.00 C						-				70.00
190-1500 PRODUTY CONTROL)	730-13.03	VEHICLE DETECTOR (4-CHANNEL, RACK MOUNT)	16.000	EACH	\$ 479.00	-	16.00	\$ -		16,00
Table Tabl	720 12 08		6,000	EACH	9 1.450.00	_	600		¢ 9.700.00	6.00
730-140 PRODRITY COMPRICA 3.000 0.000 1.00	700-10.00		0.000	LAOI I	\$ 1,450.00		0.00		\$ 6,700.00	6.00
PRODUCT CONTRICT CABLE 11,500.000 E. 5 0.00 1,190.000	730-13.07		3,000	EACH	\$ 9,710,00		3.00		\$ 29 130 00	3.00
750-1400 SAW SLOT										
790-151 MODIFY CRIMENT 19,000,000 1,00										14,130.00
T90-151 MODIFY CARRIET 1,000 EACH \$ 682.00 1.00 \$ 1,580.00 2.00 \$ 1,500.00 2.00 \$ 1,										4,460.00
T20-15.22 CABINET (EIGHT PHASE BASE MOUNTED)										1.00
T20-1602 GIGHT PHASE ACTUATED CONTROLLER 2000 EACH \$ 3,870.00 2.00 \$ \$ 7,940.00 5 1,380.00 1,380.00 1,380.00 1,380.00 1,380.00								\$ -		2.00
170-023.30 PEDESTIA, POLE (PEDEORATIVE) 1.000 EACH \$ 1,380.00 1.00 \$ 1,380.00 1.00 \$ 70-020.30 EACH \$ 2,080.00 0.00 \$ 5 \$ 1,776.00 \$ 6 \$ 70-020.30 EACH \$ 2,080.00 0.00 \$ 5 \$ \$ 1,776.00 \$ 6 \$ 70-020.30 EACH \$ 2,080.00 0.00 \$ 5 \$ \$ \$ 14,080.00 \$ 70-020.30 EACH \$ 2,080.00 0.00 \$ 5 \$ \$ \$ 14,080.00 \$ 70-020.30 EACH \$ 2,080.00 \$ 1.00 \$ \$ \$ \$ \$ 14,080.00 \$ 1.00 \$ \$ \$ \$ \$ 14,080.00 \$ 1.00 \$ \$ \$ \$ \$ 14,080.00 \$ 1.00 \$ \$ \$ \$ \$ 14,080.00 \$ 1.00 \$ \$ \$ \$ \$ 14,080.00 \$ 1.00 \$ \$ \$ \$ \$ \$ 14,080.00 \$ 1.00 \$ \$ \$ \$ \$ \$ 14,080.00 \$ 1.00 \$ \$ \$ \$ \$ \$ 14,080.00 \$ 1.00 \$ \$ \$ \$ \$ \$ 14,080.00 \$ 1.00 \$ \$ \$ \$ \$ \$ 14,080.00 \$ 1.00 \$ \$ \$ \$ \$ \$ 14,080.00 \$ 1.00 \$ \$ \$ \$ \$ \$ \$ 14,080.00 \$ 1.00 \$ \$ \$ \$ \$ \$ \$ 14,080.00 \$ 1.00 \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$			2,000	EACH	\$ 3,970.00	-	2.00	\$ -		2.00
CADATILEVER SIGNAL SUPPORT (1 ARM @ 95) 1.000 EACH \$ 14,980.00 1.00 \$. \$ 14,680.00 1.00 \$ \$. \$ 14,680.00 1.00 \$ \$. \$ 14,680.00 1.00 \$ \$. \$. \$. \$. \$. \$. \$. \$. \$			1.000	EACH	\$ 1,380.00	-	1.00			1.00
TAD-23.37 CHECORATIVE WILLIAMINAIRE 1.000 EACH \$ 2,0310.00 2.000 \$. \$ 40,020.00 2.00			7.000	EACH	\$ 2,960,00	-	6.00	\$ _	\$ 17,760.00	6.00
DECORATIVE W ILMINIARIES DECORATIVE) DECORATIVE DECORATIVE) DE			1.000	EACH	\$ 14,880.00		1.00	8	\$ 14,860,00	1.00
SAUSTON DECORATINE					- 1,1000,000		.,,,,,	*	4 17,000.00	1,00
DECOMPRIENTEN SIGNAL SUPPORT (1 ARM @ 45')			2,000	EACH	\$ 20,310.00		2.00	\$ _	\$ 40,620,00	2.00
1902-13.93 DECORATIVE WILLIAINAIRE										
CANTILEVER SIGNAL SUPPORT (1 ARM @ 50) 2.000 EACH \$ 22,730.00			2.000	EACH	\$ 20,310.00		2.00	\$ -	\$ 40,620,00	2.00
730-23.90 DECORATIVE WILLIMINARIE 200 EACH \$ 22,310.00 - 2.00 \$ \$ \$ 45,60.00 2 2 2 2 2 2 2 2 2										
Table Cantilleure Signal, Support (1 ARM @ 56) 1.000 EACH \$ 23,110.00 1.00 \$. \$ 23,110.00 1.00	73/L73 3U I		2.000	EACH	\$ 22,730.00	-	2.00	\$ -	\$ 45,460.00	2.00
DECORATIVE			4.000	FACIL	8 00 440 70		4.00			
730.26.05 COLINTOOWN PEDESTRIAN SIGNAL 24.000 EACH \$.695.00		DECORATIVE)	1.000	EACH	\$ 23,110,00	-	1,00	3 -	\$ 23,110.00	1.00
200 S	730-26.02	PEDESTRIAN PUSHBUTTON WITH 15" SIGN				-			\$ 15,696,00	24.00
RECORD R						-			\$ 16,680.00	24.00
PEDESTRIAN PUSHBUTTON POST (DECORATIVE) 2.000 EACH \$ 2,340.00 - 2.00 \$ \$ 4,620.00 2 2 2 2 2 2 2 2 2						-				2,00
SIGNAL COMMUNICATION						-				2.00
725-02.06 VIDEO ENCODER	92U-17.U4	PEDESTRIAN POSTBUTTON POST (DECORATIVE)	2.000				2.00	-	a 4,620.00	2.00
725-02.25 FIELD FILED SWITCH	725-02 06	WIDEO ENCODER	1 000				1 00		\$ 2880.00	1.00
725-03.28 LOWERING TOOL FOR CAMERA LOWERING DEVICE 1.000 EACH \$ 1,900.00 \$ 725-03.80 CCTV CAMERA SYSTEM 1.000 EACH \$ 4,320.00										1.00
1.00										
T25-05.01 MODEL 338A CABINET WITH CAMERA CONTROLLER 1.000 EACH \$ 6,010.00 . 1.00 \$ 8,010.00 1.00							1.00			1.00
725-05.06 FUSION SPLICE S.000 EACH \$ 1,270.00 S.00 S.005.000 S			1.000	EACU			4.00			
PRE-TERMINATED FIBER OPTIC CABLE ASSEMBLY (12 COLINT SMFO)					. ,					1.00
12 COUNT SMFO 1.000.00 1.0			5.000	EACH	\$ 1,270.00		5.00		\$ 6,350,00	5.00
(12 COUNT SMFO) 3,000,000 L.F. \$ 1,60 - 3,985,00 \$ 6,376,00 3,985,00 725-10.85 FIBER OPTIC CABLE (48 COUNT SMFO) 50,000 L.F. \$ 2,16 \$ \$ \$ 730-03.23 INSTALL PULL BOX (FIBER OPTIC-TYPE A) 4,000 EACH \$ 1,170,00 - 7,00 \$ - \$ 8,190,00 7, 730-03.24 INSTALL PULL BOX (FIBER OPTIC-TYPE B) 7,000 EACH \$ 1,670,00 - 9,00 \$ - \$ 15,000,00 9, 7, 730-03.25 INSTALL PULL BOX (FIBER OPTIC-TYPE B) 7,000 EACH \$ 388.00 - 5,00 \$ - \$ 1,640,00 5, 730-03.25 INSTALL PULL BOX (FIBER OPTIC-TYPE B) 7,000 EACH \$ 388.00 - 5,00 \$ - \$ 1,640,00 5, 730-05.01 ELECTRICAL SERVICE CONNECTION 1,000 EACH \$ 1,100,00 - 1,00 \$ 1,100,00 5, 730-05.02 SERVICE CABLE (3 CONDUCTOR, #8 AWG) 325,000 L.F. \$ 1,95 - 475,00 \$ 926.25 475, 730-12.02 CONDUCTOR, #8 AWG) 325,000 L.F. \$ 6,25 - 450,00 \$ 928.25 475, 730-12.03 CONDUCT 3" DIAMETER (PVC) 3325,000 L.F. \$ 6,25 - 450,00 \$ 5,007,00 \$ 60, 730-15.11 MODIFY CABINET (FO COMMUNICATION) 1,000 EACH \$ 503,00 - 1,00 \$ 503,00 1, 730-22.36 CCTV POLE 50 POLE HEIGHT/LOWERING DEVICE 1,000 EACH \$ 19,510.00 - 1,00 \$ 5,00,00 1, 730-22.36 CCTV POLE 50 POLE HEIGHT/LOWERING DEVICE 1,000 EACH \$ 19,510.00 - 1,00 \$ 6,868.80 3,029. 999-01.035 REMOVAL OF ASPHALT PAVEMENT 2,682,000 S, 4,340.00 - 1,00 \$ 6,868.80 3,029. 999-01.035 REMOVAL OF INSERT REMOVAL 1,000 L.S. 4,340.00 - 1,00 \$ 4,340.00 1, 999-01.035 REMOVAL OF BUSINESS SIGN 11,000 EACH \$ 306.00 - 8.00 \$ 2,446.00 8,999-01.045 REMOVAL OF BUSINESS SIGN 11,000 EACH \$ 306.00 - 8.00 \$ 3,550.00 10,000 \$ 3,550.00 10,000 \$ 3,550.00 10,000 \$ 3,550.00 10,000 10,	725-10.36		4.000	EACH	\$ 1,000.00		4.00		\$ 4 000 nn	4.00
725-10.85 FIBER OPTIC CABLE (48 COUNT SMFO) 50.000 L.F. \$ 2.16 \$ \$										
730-03.23 INSTALL PULL BOX (FIBER OPTIC-TYPE A)										3,985.00
730-03.24 INSTALL PULL BOX (FIBER OPTIC-TYPE B) 7.000 EACH \$ 1,670.00 - 9.00 \$. \$ 15,030.00 9.8 730-03.25 INSTALL PULL BOX (ELECTRICAL-TYPE C) 4.000 EACH \$ 388.00 . 5.00 \$. \$ 1,840.00 5.5 730-05.01 ELECTRICAL-TYPE C) 4.000 EACH \$ 1,100.00 - 1.00 \$. \$ 1,100.00 1 5.7 730-05.02 SERVICE CONNECTION 1.000 EACH \$ 1,100.00 - 1.00 \$. \$ 1,100.00 1 1.00 EACH \$ 1,100.00 - 1.00 \$. \$ 1,100.00 1 1.00 EACH \$ 1,100.00 - 1.00 \$. \$ 1,100.00 1 1.00 EACH \$ 1,100.00 - 1.00 \$. \$ 1,100.00 1 1.00 EACH \$ 1,100.00 - 1.00 EACH \$ 1,100.00 - 1.00 EACH \$ 1,100.00 - 1.00 EACH \$ 1,100.00 EACH							The state of the s			7.00
730-03.25 INSTALL PULL BOX (ELECTRICAL-TYPE C) 4.000 EACH \$ 388.00 . 5.00 \$ - \$ 1,840.00 5.5 730-05.01 ELECTRICAL SERVICE CONNECTION 1.000 EACH \$ 1,100.00 - 1.00 \$ 1,100.00 1. 730-05.02 SERVICE CABLE (3 CONDUCTOR, #8 AWG) 325.000 LF. \$ 1.95 - 475.00 \$ 928.25 475. 730-12.02 CONDUIT 2" DIAMETER (PVC) 325.000 LF. \$ 6.25 - 450.00 \$ 2,812.50 450. 730-12.03 CONDUIT 3" DIAMETER (PVC) 50.000 LF. \$ 8.45 - 60.00 \$ 507.00 80. 730-15.11 MODIFY CABINET (FO COMMUNICATION) 1.000 EACH \$ 503.00 - 1.00 \$ 503.00 1. 730-22.36 CCTV POLE 50 POLE HEIGHT/LOWERING DEVICE 1.000 EACH \$ 19,510.00 - 1.00 \$ - \$ 19,510.00 1. STREETSCAPE DEMOLITION AND REMOVAL 999-01.01S REMOVAL OF ASPHALT PAVEMENT 2.682.000 S.Y. \$ 2.20 - 3,029.00 \$ 8,883.80 3,029. 999-01.02S MISCELLANEOUS SITE ITEMS REMOVAL 1.000 LS. \$ 4,340.00 - 1.00 \$ 2,448.00 1. 999-01.03S REMOVAL OF BUSINESS SIGN 11.000 EACH \$ 365.00 - 10.00 \$ 2,448.00 8. 999-01.04S REMOVAL OF BUSINESS SIGN 11.000 EACH \$ 365.00 - 10.00 \$ 2,448.00 8.										9.00
730-05.01 ELECTRICAL SERVICE CONNECTION 1.000 EACH \$ 1,100.00 - 1.00 \$ 1,100.00 1. 1. 730-05.02 SERVICE CABLE (3 CONDUCTOR, #8 AWG) 325.000 L.F. \$ 1.95 - 475.00 \$ 928.25 475. 730-12.02 CONDUCT 2" DIAMETER (PVC) 325.000 L.F. \$ 6.25 - 450.00 \$ 2,812.50 450. 730-12.03 CONDUCT 3" DIAMETER (PVC) 50.000 L.F. \$ 8.45 - 60.00 \$ 507.00 60. 730-15.11 MODIFY CABINET (FO COMMUNICATION) 1.000 EACH \$ 503.00 - 1.00 \$ 503.00 1. 730-22.38 CCTV POLE 50" POLE HEIGHTA OWERING DEVICE 1.000 EACH \$ 19,510.00 - 1.00 \$ - \$ 19,510.00 1. 1. STREETSCAPE DEMOLITION AND REMOVAL 999-01.01S REMOVAL OF ASPHALT PAVEMENT 2,682.000 S.Y. \$ 2.20 - 3,029.00 \$ \$ 6,883.80 3,029. 999-01.02S MISCELLANEOUS SITE ITEMS REMOVAL 1.000 L.S. \$ 4,340.00 - 1.00 \$ \$ 4,340.00 1. 999-01.03S REMOVAL OF TREE 5.000 EACH \$ 306.00 - 8.00 \$ 2,448.00 6. 8. 999-01.04S REMOVAL OF BUSINESS SIGN 11.000 EACH \$ 355.00 - 10.00 \$ 3,550.00 10.										5.00
730-05.02 SERVICE CABLE (3 CONDUCTOR, #8 AWG) 325.000 L.F. \$ 1.95 - 475.00 \$ 926.25 475. 730-12.02 CONDUCT 2" DIAMETER (PVC) 325.000 L.F. \$ 6.26 - 450.00 \$ 2,812.50 450. 730-12.03 CONDUCT 3" DIAMETER (PVC) 50.000 L.F. \$ 8.45 - 60.00 \$ 507.00 80. 730-15.11 MODIFY CABINET (FO COMMUNICATION) 1.000 EACH \$ 503.00 - 1.00 \$ 503.00 1. 730-22.36 CCTV POLE 50" POLE HEIGHT/LOWERING DEVICE 1.000 EACH \$ 19,510.00 - 1.00 \$ 19,510.00 1. STREETSCAPE DEMOLITION AND REMOVAL 999-01.01S REMOVAL OF ASPHALT PAVEMENT 2,682.000 S.Y. \$ 2.20 - 3,029.00 \$ 8,683.80 3,029. 999-01.02S MISCELLANEOUS SITE ITEMS REMOVAL 1.000 L.S. \$ 4,340.00 - 1.00 \$ 9,4340.00 1. 999-01.03S REMOVAL OF TREE 5.000 EACH \$ 306.00 - 8.00 \$ 2,444.00 8. 999-01.04S REMOVAL OF BUSINESS SIGN 11.000 EACH \$ 365.00 - 10.00 \$ 3,550.00 10.			1.000	EACH		-	1.00			1.00
730-12.03 CONDUIT 3" DIAMETER (PVC)									\$ 926.25	475.00
730-15.11 MODIFY CABINET (FO COMMUNICATION) 1.000 EACH \$ 503.00 - 1.00 \$ 503.00 1. 730-22.38 CCTV POLE 50 POLE HEIGHT/LOWERING DEVICE 1.000 EACH \$ 19,510.00 - 1.00 \$ - \$ 19,510.00 1. STREETSCAPE DEMOLITION AND REMOVAL 999-01.01S REMOVAL OF ASPHALT PAVEMENT 2,682.000 S.Y. \$ 2.20 - 3,029.00 \$ \$ 6,683.80 3,029. 999-01.02S MISCELLANEOUS SITE ITEMS REMOVAL 1.000 L.S. \$ 4,340.00 - 1.00 \$ 4,340.00 1. 999-01.03S REMOVAL OF TREE 5.000 EACH \$ 306.00 - 8.00 \$ 2,448.00 8. 999-01.04S REMOVAL OF BUSINESS SIGN 11,000 EACH \$ 355.00 - 10.00 \$ 3,550.00 10.										450,00
730-22.36 CCTV POLE 50 POLE HEIGHTA OWERING DEVICE 1.000 EACH \$ 19,510.00 . 1.00 \$ - \$ 19,510.00 1. STREETS CAPE DEMOLITION AND REMOVAL 999-01.01S REMOVAL OF ASPHALT PAVEMENT 2,682.000 S.Y. \$ 2.20 . 3,029.00 \$ 6,683.80 3,029.00 999-01.02S MISCELLANEOUS SITE ITEMS REMOVAL 1.000 L.S. \$ 4,340.00 - 1.00 \$ 4,340.00 1.00										60.00
STREETSCAPE										1.00
DEMOLITION AND REMOVAL Seminoral Sem	/30-22.36	OCTV POLE 50 POLE HEIGHT/LOWERING DEVICE	1,000	EACH			1.00	- ¢	\$ 19,510.00	1.00
999-01.01S REMOVAL OF ASPHALT PAVEMENT 2,682.000 S.Y. \$ 2.20 - 3,029.00 \$ 6,683.80 3,029.00 999-01.02S MISCELLANEOUS SITE ITEMS REMOVAL 1.000 L.S. \$ 4,340.00 - 1.00 \$ 4,340.00 1. 999-01.03S REMOVAL OF TREE 5.000 EACH \$ 306.00 - 8.00 \$ 2,448.00 8. 999-01.04S REMOVAL OF BUSINESS SIGN 11,000 EACH \$ 355.00 - 10.00 \$ 3,550.00 10.				DEM						
999-01.02S MISCELLANEOUS SITE ITEMS REMOVAL 1.000 L.S. \$ 4,340.00 - 1.00 \$ 4,340.00 1. 999-01.03S REMOVAL OF TREE 5.000 EACH \$ 308.00 - 8.00 \$ 2,448.00 8. 999-01.04S REMOVAL OF BUSINESS SIGN 11,000 EACH \$ 355.00 - 10,00 \$ 3,550.00 10.	000 04 04E T	REMOVAL OF ASPRAIT DAVEMENT	2 882 VVV				חח מכת ב		¢ 000.001	0.000.00
999-01.03\$ REMOVAL OF TREE 5.000 EACH \$ 306.00 - 8.00 \$ 2,448.00 8. 999-01.04\$ REMOVAL OF BUSINESS SIGN 11,000 EACH \$ 355.00 - 10.00 \$ 3,550.00 10.										3,029,00
999-01.04S REMOVAL OF BUSINESS SIGN 11.000 EACH \$ 355.00 · 10.00 \$ 3,550.00 10.										8.00
										10,00
20.212.001 19 20.212.001 10 20.212.001 10 20.212.001 10 20.212.001 10 20.212.001 10 20.212.001 10 20.212.001 10 20						-	780.00			780.00

2 1/4" THICK BRICK PAVERS ON 4" THICK CONCRETE			*************************************		PAVERS					
ACCOUNTS STATE SECURITY PROCESSION PROCESSION STATE SECURITY SE	200 00 040	2 1/4" THICK BRICK PAVERS ON 4" THICK CONCRETE	4004000	10.5		T T				
Section Sect	999-03.015		4,034.000	S.F.	\$ 15.20	-	3,652.60	\$	55,519.52	3,652,60
Dec Color Dec Color Dec	999-03.028		1.982.000	S.F.	\$ 16.90	_	792 80	8	13 308 32	702.90
CONTROLLED CON	555 05.020		1,002,000	U.I .	10.00		1 02,00	3	13,390,32	/92.80
MACCOUNT MAD PROFIT ON A TENNING PARKED 250.00 \$ 1,020.00 \$ 1,	999-03.03S		6,142.000	S.F.	\$ 20.80	-	4,063.00		84,510,40	4.063.00
				+-						1,
GROCK ALE GROWN STEEL SECTION FRANCE 280.00 EV E 70.00 S 15.00 S 20.00 S 15.00 S 20.00 S 20.	999-03.04\$		225.000	S.F.	\$ 44.40	-	300.00	\$	13,320.00	300.00
GROCK ALE GROWN STEEL SECTION FRANCE 280.00 EV E 70.00 S 15.00 S 20.00 S 15.00 S 20.00 S 20.			POD.	TI AND	CEMENT CONC	DETE DAVEMEN	T	<u>'</u>		
Security			FOR	LEMMO	CEMENT CONC	KETE PAVEMEN				
SOCIO CONCEST SOCIO CONCEST SOCIO CONCEST CONCEST SOCIO CONCEST CONCEST SOCIO CONCEST CONC	999-04.01S		285.000	S.Y.	\$ 78,10		196.00	S	15 307 60	196.00
	000 04 000	A STATE OF THE STA	25 228 200							
SPACES COMPARTS CORRESTOR CORP. TITLEY 2,000 1						-				
Security										
MAINTENE	999-04.05S	CONCRETE STEPS/MISCELLANEOUS STRUCTURES								
Sept. Conf. Sept.						PROVEMENTS				
September Sept							8,00		28,160,00	8.00
690-650-650										
			50.000	EACH	\$ 1,290,00	-	53,00			
Security						-			280,665.00	
GOLD PANELS FOR TRACT TO A (ENNICOT PANELS)										
MILLOWINGER MILLOWINGER MILLOWINGER MILLOWINGER MILLOWINGER MILLOW							1.00	\$	4,190.00	1.00
SIGN PART PRIACE FOR 1 SAMPOUND 1.000 6ACH 6 3,880.00 1.000	999-05.105		2.000	EACH	\$ 2,100.00		1.63	\$	3,426.00	1.63
Section Sect	000 05 440	SIGN FOR TRACT NO. 13 (ALEXANDER	1000	EAC.	E 0.000.00		4.60			
1.00 1.00	999-US.115	CHRYSLER/JEEP)	000,7	CAUH	# 3,890.00		1.00	\$	3,890.00	1.00
BEATS BEATS FOR TREAT FOL 20 BEATS 5 3,890.00 1,00 3	999-05-128		2,000	EACH	\$ 1,800,00		1.43	e	2 560 FC	4.40
SIGN PANNEL REAL PRINCE IN CO. 20 BET GREAT REACH IN CO. 20 BET GREA										
MALLOWANCE DUVANCE PRINCE NO. 2 (PRILL)			1,000	EACH	\$ 3,890.00	•	1.00	<u> </u>	3,890.00	1.00
Geode 1, 18 SIGN FOR TRACT NO. 22 (SHELL)	999-05.14S		2,000	EACH	\$ 1,800.00		1.43	s	2,569.58	1.43
SIGN PARKER FOR TRACT NO. 22 (SERLL)	999-05.15S		1.000	EACH	\$ 3,890.00	71	1.00	\$	3.890.00	1.00
99-95.19 90-95.29 90-	000 05 150		2,000	EACH	\$ 1,900,00				7,000,00	
SOLD PARKES FOR TRACT NO. 26 (SONNO)						•		3	-	-
\$400.00 \$ \$ \$ \$ \$ \$ \$ \$ \$	999-05.175		1.000	EACH	\$ 4,000.00	-	1.00	\$	4,000.00	1.00
SURPLY FOR TRACT NO. 32 (DEL ROY WINE AND SURPLY FOR	999-05.185		2.000	EACH	\$ 10,000.00	-	0.26	\$	2,569.56	0.26
SPENTIS					_					
AND SEPRITS ALLOWANCE COUNTY C	999-05.19S		1.000	EACH	\$ 3,620,00	•	1.00	\$	3,620,00	1.00
MAIL DEFINIST ROLL OF PRINTS TO BY COLOR TROCKS 1.000 EACH \$ 3,600.00 1.000 \$ 3,600.00 1.000 \$ 990.002.00 \$ 7,740.00 2.000 \$ 7,740.00	200 05 200		2,000	EACH	\$ 1,600,00					
Sept. Sign Parkers For Tract No. 34 (Mickey ROOS) 2.000 EACH \$ 1,500.00									-	
\$4,000 \$	999-05.215		1.000	EACH	\$ 3,600,00	-	1.00	. \$	3,600,00	1.00
1999-05.28 SIGN FOR TRIZET IN 3.9 (MEDITYS)	999-05.22S		2.000	EACH	\$ 1,500.00		1.71	\$	2,569.66	1.71
SPACE SIGN PANELS FOR TRACT NO. 36 (MEDIONS) 2.00 EACH \$ 1,600.00 2.88 \$ 5,199.12 2.86 \$ 990.02.828 SIGN PANELS FOR TRACT NO. 36 (MEDIFERNOENCE SOLUARE) 1.000 EACH \$ 3,600.00 2.00 \$ 10,600.00 2.00 \$ 10,600.00 2.00 \$ 2,000.00 2.00 \$ 10,600.00 2.00 2.00 \$ 10,600.00 2.0	999-05.235		1,000	EACH	\$ 3,870.00	-	2.00	\$	7.740.00	200
(ALLOWANCE) COLOMBERS CO			2,000	EVCH	e 1,000,00		2.00			
SIGN PANILS FOR TRACT NO. 34 [INDEPENDENCE 2.000 EACH \$ 2,800.00 2.02 \$ 7,735.66 2.02 \$ 989.06.278 SIGN FOR TRACT NO. 12 (HAM PANN SHOP) 1.000 EACH \$ 3,880.00 1.00 \$ 3,880.00 1.00 \$ 3,880.00 1.00 \$ 999.06.288 SIGN FOR TRACT NO. 12 (HAM PANN SHOP) 2.000 EACH \$ 1,800.00 1.00 \$ 1,000.00 1.00 \$ 1,000.00 1.00 \$ 999.06.288 SIGN FOR BULDGET TRUCK RENTAL 1.000 EACH \$ 1,800.00 1.10 \$ 3,880.00 1.10 \$ 3,880.00 1.10 \$ 3,880.00 1.10 \$ 3,880.00 1.10 \$ 1,000.00 \$ 1,00						-		*	6,139.12	2.86
\$990-05.275 \$100.00 \$1.00 \$3.080.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.00 \$1.0	999-05,25S		1,000	EACH	\$ 5,300.00		2.00	\$	10,600,00	2.00
100 100	999-05,26\$		2.000	EACH	\$ 2,800.00	-	2.62	\$	7,335.05	2.62
989-05.28S SIGN PANELS FOR TRACT NO. 12 (HAM PAWN SHOP) 2.000 EACH \$ 1,500.00 . 1.00 \$ 1,500.00 1.00 999-05.28S SIGN FOR BUDGET TRUCK RENTAL 1.000 EACH \$ 1,500.00 . 1.71 \$ 2,599.58 1.71 999-05.29S SIGN FOR BUDGET TRUCK RENTAL 2.000 EACH \$ 1,500.00 . 1.71 \$ 2,599.58 1.71 1.000 EACH \$ 1,500.00 . 1.71 \$ 2,599.58 1.71 1.000 EACH \$ 1,500.00 . 1.71 \$ 2,599.58 1.71 1.000 EACH \$ 1,500.00 . 1.71 \$ 2,599.58 1.71 1.000 EACH \$ 1,500.00 . 1.71 \$ 2,599.58 1.71 1.000 EACH \$ 1,500.00 . 1.00 EACH \$ 1,500.00	999-05.27S		1.000	EACH	\$ 3,680,00		1.00	-	3 690 00	
999-05.258 SIGN FOR RUDGET TRUCK RENTAL 1.000 EACH \$ 1,500.00 1.71 \$ 2,509.58 1.71 999-05.308 SIGN PANIELS FOR BUDGET TRUCK RENTAL 2.000 EACH \$ 1,500.00 1.71 \$ 2,509.58 1.71 999-05.308 SIGN PANIELS FOR RUDGET TRUCK RENTAL 2.000 EACH \$ 1,500.00 1.00 \$ 3,880.00 1.00 999-05.308 SIGN FOR TRACT NO. 14 (FRANKLIN CLEANERS) 1.000 EACH \$ 3,880.00 1.00 \$ 3,880.00 1.00 999-05.308 SIGN FOR TRACT NO. 16 (FRANKLIN CLEANERS) 1.000 EACH \$ 1,500.00 \$										
SIGN PANELS FOR BUDGET FRUCK RENTAL 2,000 EACH \$ 1,500.00 . 1.71 \$ 2,599.65 1.71						-		\$	1,500.00	1.00
Section Sect			1.000	EACH	\$ 3,680.00		1.00	\$	3,680.00	1.00
989-05.31S SIGN POR TRACT NO. 14 (FRANKLIN CLEANERS) 1.000 EACH \$ 3,880.00 . 1.00 \$ 3,880.00 1.00 \$ 99-05.32S SIGN PARLES FOR TRACT NO. 14 (FRANKLIN 2.000 EACH \$ 1,500.00			2.000	EACH	\$ 1,500.00	-	1.71	s	2,569.58	1.71
SIGN PANELS FOR TRACT NO. 14 (FRANCIIN 1.000 EACH \$ 1,500.00			1,000	FACH	\$ 3,680,00		1.00			
999-05-385 SIGN PANELS FOR TRACT NO. 16 (VACANT)							1,00		3,080,00	1.00
B89-05.385 SIGN PANELS FOR TRACT NO. 16 (VACANT) 2.000 EACH \$ 1,500.00	999-05.325	CLEANERS) (ALLOWANCE)				<u> </u>		\$	-	-
SIGN PANELS FOR TRACT NO. 16 (VACANT) 2.00 EACH \$ 1,500.00 			1.000	EACH	\$ 3,680.00	-	1,00	\$	3,680.00	1.00
(ALLOWANCE)			2.000	EACH	\$ 1,500.00	.	. 1	s		
999-05.38S SIGN PANELS FOR TRACT NO. 24 (FRENCH'S SHOES AND BOOTS) 1.000 EACH \$ 1,600.00 \$ \$ \$ \$ \$	1						2.00	1		-
999-05.375 SIGN FOR TRACT NO. 24 (FRENCH'S SHOES AND BOOTS) 999-05.385 SIGN FOR TRACT NO. 24 (FRENCH'S SHOES AND BOOTS) 999-05.385 SIGN FOR TRACT NO. 24 (FRENCH'S SHOES AND BOOTS) 999-05.385 SIGN FOR TRACT NO. 24 (FRENCH'S SHOES AND BOOTS) (ALLOWANCE) 999-05.385 SIGN PARIELS FOR TRACT NO. 24 (FRENCH'S SHOES AND BOOTS) (ALLOWANCE) 999-05.385 SIGN PARIELS FOR TRACT NO. 24 (FRENCH'S SHOES AND BOOTS) (ALLOWANCE) 999-05.481 SIGN FOR TRACT NO. 24 (FRENCH'S SHOES AND BOOTS) (ALLOWANCE) 999-05.481 SIGN FOR TRACT NO. 24 (FRENCH'S SHOES AND BOOTS) (ALLOWANCE) 999-05.481 SIGN FOR TRACT NO. 24 (FRENCH'S SHOES AND BOOTS) (ALLOWANCE) 999-05.481 CLASSIC CONCRETE RAIL 999-05.481 CLASSIC CONCRETE RAIL 999-05.481 CLASSIC CONCRETE RAIL 999-06.015 IRRIGATION SYSTEM 999-06.025 IRRIGATION METER (ALLOWANCE) 1.000 [ACH \$ 10,000.00						-			7,460.00	2.00
999-05.385 SIGN PANELS FOR TRACT NO. 24 (FRENCH'S SHOES AND BOOTS) (ALLOWANCE) 2.000 EACH \$ 1,800.00 . 1.43 \$ 2,569.56 1.43 999-05.385 SIGN PANELS FOR TRACT NO. 24 (FRENCH'S SHOES AND BOOTS) (ALLOWANCE) 2.000 EACH \$ 8,320.00 . 3.00 \$ 24,960.00 3.00 999-05.405 WHIEEL STOP 5.000 EACH \$ 48,70 \$ \$ \$ 999-05.405 WHIEEL STOP 5.000 EACH \$ 48,70 \$ \$ 999-05.405 WHIEEL STOP 5.000 EACH \$ 48,70 \$ \$			2.000	EACH	\$ 1,500.00			\$	-	-
999-05.38S SIGN PANELS FOR TRACT NO. 24 (FRENCH'S SHOES AND BOOTS) (ALLOWANCE) 999-05.38S LIMESTONE STREET MARKERS 4.000 EACH \$ 8,320.00 - 3.00 \$ 24,980.00 3.00 999-05.41S (CLASSIC CONCRETE RAIL 210.000 L.F. \$ 378.00 - 176.19 \$ 66,599.82 176.19 999-05.41S (CLASSIC CONCRETE RAIL 210.000 L.F. \$ 378.00 - 176.19 \$ 66,599.82 176.19 999-05.41S (RIRIGATION SYSTEM 1.000 L.S. \$ 74,330.00 - 1.12 \$ 83,070.00 1.12 999-06.02S (RRIGATION METER (ALLOWANCE) 1.000 EACH \$ 10,000.00 - 1.00 \$ 10,000.00 1.12 999-07.01S (PLANTING SOIL 1.000 EACH \$ 10,000.00 - 1.00 \$ 10,000.00 1.00 **LANDSCAPE WORK** 999-07.01S (PLANTING SOIL 1.577.00 \$ 76,799.90 1.577.00 999-07.02S ACER RUBRUM 'RAMSTRONG' 20.000 EACH \$ 243.00 - 17.00 \$ 4,131.00 17.00 999-07.03S ACER RUBRUM 'RAMSTRONG' 20.000 EACH \$ 243.00 - 17.00 \$ 2,221.00 11.00 999-07.04S ACER RUBRUM 'RAMSTRONG' 20.000 EACH \$ 243.00 - 11.00 \$ 2,221.00 11.00 999-07.05S NYSSA SYLVATICA 35.000 EACH \$ 243.00 - 40.00 \$ 7,596.00 36.00 999-07.05S NYSSA SYLVATICA 35.000 EACH \$ 243.00 - 40.00 \$ 9.720.00 40.00 999-07.05S NYSSA SYLVATICA 35.000 EACH \$ 243.00 - 30.00 \$ 7,596.00 36.00 999-07.05S NYSSA SYLVATICA 35.000 EACH \$ 243.00 - 40.00 \$ 9.720.00 40.00 999-07.05S NYSSA SYLVATICA 35.000 EACH \$ 243.00 - 30.00 \$ 7,790.00 30.00 999-07.05S NYSSA SYLVATICA 35.000 EACH \$ 243.00 - 30.00 \$ 7,790.00 30.00 999-07.05S NYSSA SYLVATICA 35.000 EACH \$ 243.00 - 30.00 \$ 7,770.00 30.00 999-07.05S NYSSA SYLVATICA 35.00 EACH \$ 243.00 - 30.00 \$ 7,770.00 30.00 999-07.05S NYSSA SYLVATICA 35.00 EACH \$ 243.00 - 30.00 \$ 7,770.00 30.00 999-07.05S NYSSA SYLVATICA 35.00 EACH \$ 243.00 - 30.00 \$ 7,770.00 30.00 999-07.05S NYSSA SYLVATICA 35.00 EACH \$ 243.00 - 30.00 \$ 7,770.00 30.00 999-07.05S NYSSA SYLVATICA 35.00 EACH \$ 243.00 - 30.00 \$ 7,770.00 30.00 999-07.05S NYSSA SYLVATICA 35.00 EACH \$ 243.00 - 30.00 \$ 7,770.00 30.00 999-07.05S NYSSA SYLVATICA 35.00 EACH \$ 243.00 - 30.00 \$ 7,770.00 30.00 999-07.05S NYSSA SYLVATICA 35.00 EACH \$ 243.00 - 30.00 \$ 7,770.00 30.00 999-07.05S NYSSA SYLVATICA 35.00 EACH \$ 243.00			1,000	FACH	\$ 3790.00		100		9 700 00	4.00
Supplementary Supplementar			1.000	- 1011	- 2,120,00		1.00	3	3,730.00	1,00
Second S			2,000	EACH	\$ 1,800.00	.	1.43	s	2,569.56	1.43
999-05.40\$ WHEELSTOP										
176.19 \$ 66,599.82 176.19 \$ 176.19 \$ 66,599.82 176.19 \$ 176.19						-	-		∠4,800.00	
September Sept					\$ 378.00		176.19		66,599.82	
999-06.02\$										
Sep-07.01S PLANTING SOIL 1,512.000 C.Y. \$ 48.70 - 1,577.00 \$ 76,799.80 1,577.00										
999-07.01S PLANTING SOIL 1,512.000 C.Y. \$ 48.70 - 1,577.00 \$ 76,799.90 1,577.00 989-07.02S ACER RUBRUM 'ARMSTRONG' 20,000 EACH \$ 243.00 - 17.00 \$ 4,131.00 17.00 999-07.03S ACER RUBRUM 'BRANDYWINE' 16.000 EACH \$ 211.00 - 11.00 \$ 2,2321.00 111.00 999-07.04S ACER SACCHARUM 'LEGACY' 22,000 EACH \$ 211.00 - 36.00 \$ 7,598.00 38.00 999-07.04S ACER SACCHARUM 'LEGACY' 22,000 EACH \$ 243.00 - 40.00 \$ 9,720.00 40.00 999-07.08S QUERCUS PHELLOS 26,000 EACH \$ 243.00 - 40.00 \$ 9,720.00 40.00 999-07.08S QUERCUS PHELLOS 26,000 EACH \$ 211.00 - 38.00 \$ 8,018.00 38.00 999-07.07S ULMUS PARVIFOLIA 'ALLEE' 22,000 EACH \$ 243.00 - 32.00 \$ 7,778.00 32.00 999-07.08S ZELKOVA SERRATA 'VILLAGE GREEN' 7.000 EACH \$ 243.00 - 90.00 \$ 2,187.00 90.00 999-07.09S PINUS STROBUS 111.00 EACH \$ 243.00 - 90.00 \$ 12,150.00 90.00 999-07.10S MAGNOLIA VIRGINIANA 17.000 EACH \$ 243.00 - 90.00 \$ 2,187.00 90.00 999-07.11S ITEA VIRGINICA 'LITTLE HENRY' 5685.000 EACH \$ 243.00 - 349.00 \$ 10,958.60 349.00	250-06.02S	IKARDATION METER (ALLOWANCE)	1,000				1.00	5	10,000.00 {	1.00
999-07.02S ACER RUBRUM 'ARMSTRONG' 20.000 EACH \$ 243.00 - 17.00 \$ 4,131.00 17.00 999-07.03S ACER RUBRUM 'BRANDYWINE' 16.000 EACH \$ 211.00 - 11.00 \$ 2,321.00 11.00 999-07.04S ACER SACCHARUM 'LEGACY' 22.000 EACH \$ 211.00 - 36.00 \$ 7,596.00 35.00 999-07.05S NYSSA SYLVATICA 35.000 EACH \$ 243.00 - 40.00 \$ 7,596.00 35.00 999-07.05S QUERCUS PHELLOS 26.000 EACH \$ 241.00 - 38.00 \$ 8,016.00 36.00 999-07.07S ULMUS PARVIFOLIA 'ALLEE' 22.000 EACH \$ 211.00 - 38.00 \$ 8,016.00 36.00 999-07.07S ULMUS PARVIFOLIA 'ALLEE' 22.000 EACH \$ 243.00 - 32.00 \$ 7,778.00 32.00 999-07.09S PINUS STROBUS 111.00 EACH \$ 243.00 - 9.00 \$ 2,187.00 90.00 999-07.09S PINUS STROBUS 111.000 EACH \$ 243.00 - 9.00 \$ 12,150.00 90.00 999-07.09S PINUS STROBUS 111.000 EACH \$ 243.00 - 9.00 \$ 12,150.00 90.00 999-07.11S REA VIRGINIANA 17.000 EACH \$ 243.00 - 9.00 \$ 2,187.00 90.00 999-07.11S REA VIRGINICA 'LITTLE HENRY' 565.000 EACH \$ 243.00 - 349.00 \$ 10,958.60 349.00	999-07.01S T	PLANTING SOIL T	1,512,000				1,577.00	T g	76 700 00 1	1 577 00
999-07.03\$ ACER RUBRUM 'BRANDYWINE 16.000 EACH \$ 211.00 - 11.00 \$ 2,231.00 11.00 999-07.04\$ ACER SACCHARUM 'LEGACY' 22.000 EACH \$ 211.00 - 36.00 \$ 7,598.00 36.00 999-07.05\$ NYSSA SYLVATICA 35.000 EACH \$ 243.00 - 40.00 \$ 9,720.00 40.00 999-07.05\$ QUERCUS PHELLOS 26.000 EACH \$ 211.00 - 38.00 \$ 8,018.00 38.00 999-07.07\$ ULMUS PARVIFOLIA 'ALLEE' 22.000 EACH \$ 243.00 - 32.00 \$ 7,776.00 32.00 999-07.09\$ ZELKOVA SERRATA 'VILLAGE GREEN' 7.000 EACH \$ 243.00 - 90.00 \$ 2,187.00 999-07.09\$ PINUS STROBUS 111.000 EACH \$ 243.00 - 90.00 \$ 12,150.00 90.00 999-07.10\$ MAGNOLIA VIRGINIANA 17.000 EACH \$ 243.00 - 90.00 \$ 12,150.00 90.00 999-07.10\$ MAGNOLIA VIRGINIANA 17.000 EACH \$ 243.00 - 90.00 \$ 12,150.00 90.00 999-07.10\$ MAGNOLIA VIRGINIANA 17.000 EACH \$ 243.00 - 90.00 \$ 12,150.00 90.00 999-07.10\$ REA VIRGINICA 'LITTLE HENRY' 565.000 EACH \$ 20.50 - 511.00 \$ 10,475.50 511.00 999-07.12\$ ROSA 'KNOCKOUT' 301.000 EACH \$ 31.40 - 349.00 \$ 10,958.60 349.00										
989-07.04\$ ACER SACCHARUM LEGACY 22.000 EACH \$ 211.00 - 36.00 \$ 7,596.00 36.00 999-07.05\$ NYSSA SYLVATICA 35.000 EACH \$ 243.00 - 40.00 \$ 9,720.00 40.00 999-07.06\$ QUERCUS PHELLOS 26.000 EACH \$ 243.00 - 38.00 \$ 8,018.00 38.00 999-07.07\$ ULMUS PARVIPOLIA VALLEE' 22.000 EACH \$ 243.00 - 32.00 \$ 7,776.00 32.00 999-07.06\$ ZELKOVA SERRATA "VILLAGE GREEN' 7.000 EACH \$ 243.00 - 90.00 \$ 2,187.00 90.00 999-07.09\$ PINUS STROBUS 111.000 EACH \$ 135.00 - 90.00 \$ 12,150.00 90.00 999-07.10\$ MAGNOLIA VIRGINIANA 17.00 EACH \$ 243.00 - 90.00 \$ 12,150.00 90.00 999-07.10\$ MAGNOLIA VIRGINIANA 17.00 EACH \$ 243.00 - 90.00 \$ 12,150.00 90.00 999-07.10\$ MAGNOLIA VIRGINIANA 17.00 EACH \$ 243.00 - 90.00 \$ 12,150.00 90.00 999-07.10\$ MAGNOLIA VIRGINIANA 17.00 EACH \$ 243.00 - 90.00 \$ 12,150.00 90.00 999-07.10\$ REA VIRGINICA "LITTLE HENRY" 565.000 EACH \$ 20.50 - 511.00 \$ 10,475.50 511.00 999-07.12\$ ROSA "KNOCKOUT" 301.000 EACH \$ 31.40 - 349.00 \$ 10,958.80 349.00	999-07.03S	ACER RUBRUM 'BRANDYWINE'	16.000	EACH	\$ 211.00		11.00			
999-07.08S QUERCUS PHELLOS 26.000 EACH \$ 211.00 - 38.00 \$ 8,018.00 38.00 999-07.07S ULMUS PARVIFOLIA 'ALLEE' 22.000 EACH \$ 243.00 - 32.00 \$ 7,778.00 32.00 999-07.08S ZELKOVA SERRATA 'VILLAGE GREEN' 7.000 EACH \$ 243.00 - 9.00 \$ 2,187.00 9.00 999-07.09S PINUS STROBUS 111.000 EACH \$ 135.00 - 90.00 \$ 12,150.00 90.00 999-07.10S MAGNOLIA VIRGINIANA 17.000 EACH \$ 243.00 - 9.00 \$ 2,187.00 99.00 999-07.11S IYEA VIRGINICA 'LITTLE HENRY' 565.000 EACH \$ 243.00 - 511.00 \$ 10,475.50 511.00 999-07.12S ROSA 'KNOCKOUT' 301.000 EACH \$ 31.40 - 349.00 \$ 10,958.60 349.00								\$	7,596.00	36.00
999-07.07S ULMUS PARVIFOLIA 'ALLEE' 22.000 EACH \$ 243.00 - 32.00 \$ 7,778.00 32.00 999-07.08S ZELKOVA SERRATA 'VILLAGE GREEN' 7.000 EACH \$ 243.00 - 9.00 \$ 2,187.00 9.00 999-07.09S PINUS STROBUS 111.000 EACH \$ 135.00 - 90.00 \$ 12,150.00 90.00 999-07.10S MAGNOLIA VIRGINIANA 17.000 EACH \$ 243.00 - 9.00 \$ 2,187.00 90.00 999-07.11S ITEA VIRGINICA 'LITTLE HENRY' 565.000 EACH \$ 243.00 - 511.00 \$ 10,475.50 511.00 999-07.12S ROSA 'KNOCKOUT' 301.000 EACH \$ 31.40 - 349.00 \$ 10,958.60 349.00										
999-07.08S ZELKOVA SERRATA "VILLAGE GREEN" 7.000 EACH \$ 243.00 - 9.00 \$ 2,187.00 9.00 999-07.09S PINUS STROBUS 111.000 EACH \$ 135.00 - 90.00 \$ 12,150.00 90.00 999-07.10S MAGNOLIA VIRGINIANA 17.000 EACH \$ 243.00 - 9.00 \$ 2,187.00 9.00 999-07.11S ITEA VIRGINICA "LITTLE HENRY" 565.000 EACH \$ 20.50 - 511.00 \$ 10,475.50 511.00 999-07.12S ROSA "KNOCKOUT" 301.000 EACH \$ 31.40 - 349.00 \$ 10,958.60 349.00										
999-07.09S PINUS STROBUS 111.000 EACH \$ 135.00 - 90.00 \$ 12,150.00 90.00 999-07.10S MAGNOLIA VIRGINIANA 17.000 EACH \$ 243.00 - 90.00 \$ 2,187.00 9.00 999-07.11S ITEA VIRGINICA LITTLE HENRY 565,000 EACH \$ 20.50 - 511.00 \$ 10,475.50 511.00 999-07.12S ROSA KNOCKOUT 301.000 EACH \$ 31.40 - 349.00 \$ 10,958.60 349.00										
999-07.10S MAGNOLIA VIRGINIANA 17.000 EACH \$ 243.00 - 9.00 \$ 2,187.00 9.00 999-07.11S ITEA VIRGINICA LITTLE HENRY 585.000 EACH \$ 20.50 - 511.00 \$ 10,475.50 511.00 999-07.12S ROSA KNOCKOUT 301.000 EACH \$ 31.40 - 349.00 \$ 10,958.60 349.00										
999-07.11S ITEA VIRGINICA LITTLE HENRY 565.000 EACH \$ 20.50 - 511.00 \$ 10,475.50 511.00 999-07.12S ROSA KNOCKOUT 301.000 EACH \$ 31.40 - 349.00 \$ 10,958.60 349.00	999-07.10S	MAGNOLIA VIRGINIANA	17.000	EACH	\$ 243.00	-	9.00			
						-		\$	10,475.50	511.00
989-01, 199 ITTUS MTUTMATICA GTU-LUM 4,284.50 209,00										
	999-U7.13S	KITUS AKUMATIGA GKU-LOW	456,000	CACH	a 20,50		X08'00		4,284.50	209.00

999-07.15S ILEX X 'CHINA BOY' 27.000 EACH \$ 53.00 11.00 \$ 583.00 11.00 999-07.16S ILEX X 'CHINA BOY' 302.000 EACH \$ 53.00 142.00 \$ 7,528.00 142.00 999-07.17S HEMEROCALLIS 'BUTTERED POPCORN' 999.000 EACH \$ 6.50 972.00 \$ 6,318.00 972.00 999-07.18S HEMEROCALLIS 'FRANKLY SCARLET' 1,480.000 EACH \$ 6.50 983.00 \$ 3,302.00 508.00 999-07.19S HEMEROCALLIS 'YOLYENE NICHOLE' 948.000 EACH \$ 6.50 508.00 \$ 3,302.00 508.00 999-07.20S HEMEROCALLIS 'LEBA ORANGE CRUSH' 1,132.000 EACH \$ 6.50 919.00 \$ 5,973.50 919.00 999-07.21S UIRIOPE MUSCARI 'BIG BLUE' 8,048.000 EACH \$ 5.40 11,570.00 \$ 62,478.00 11,670.00 999-07.22S NARCISSUS SPECIES 'CARLTON' 4,391.000 EACH \$ 1.10 4,391.00 \$ 4,890.10 4,991.00 999-07.23S NARCISSUS SPECIES 'STAINLESS' 3,460.000 EACH \$ 1.10 3,450.00 \$ 3,795.00 3,450.00 T14-03.01S DIRECT BURIAL CONDUIT (2" PVC, SCH 40) 6,821.000 LF. \$ 4.20 6,890.00 \$ 28,938.00 6,890.00 7,425.00 17	999-07.14S	BUXUS MICROPHYLLA 'WINTER GEM'	101.000	EACH	\$ 27.00		104.00		\$ 2,808,00	104,00
BACK TO IMPRESSOR 10 KENTERED PROCESSY 100	***************************************								\$ 583.00	11.00
Sect 160 Control Con										
Section 20										-1-11-4
200										
Section 2015 Section										
MARCHAN MARCHAN CORNET FOR CACHON MARCHAN CONTROL FOR CACHON MARCH										
THE FIRST CHARGE CONTENT FOR COUNTY FOR COUNTY OF THE PROPERTY OF THE PROPER										
THE COLOR OF STATE OF THE STA	999-07.235	NARCIOSUS SPECIES STAINLESS	3,430,000	EAUN			3,450.00	<u> </u>	5 3,795,00	3,450.00
PACADESS SECTION COMMAND OF PACE SECTION	714-03.015	DIRECT BURIAL CONDUIT (2" PVC, SCH 40)	6,783.000	L.F.	\$ 4.20	-	6,890.00		\$ 28,938.00	6,890,00
FreeDotts Process Pr									\$ 38,610,00	
THATO THE PROPERTY AND DESCRIPTION PROCESSES \$ 1,000 \$ 1,0										
PACAD TO										
		TREMEN AND BACKELL IN ASPHALT AND LAWAR		1						
Final Content Final Conten	714-03.17S		1,012,000	L.F.	\$ 40.40	•	1,320.00		\$ 53,328.00	1,320.00
TAMADOS TAMA							-			-
THE COLOR THE	714-04.04S		45,000	L.F.	\$ 15.10	-			\$ -	-
THADBOOK MALBOOK PERLYS WITH DESCRIPTION (DOD) 2.000 EACH \$ 186.00 \$ 1.00.00 \$ 2.2796.00 10.00 \$ 1.7706.00 \$	714-04.058		13,408.000	L.F.	\$ 1.10	-	14,850.00		\$ 16,335,00	14,850.00
THEOLOGY SURPTION BOX PERVED PEP	714-05.09S		2.000	EACH	\$ 388.00		3.00	\$.	\$ 1.164.00	3.00
THADBLE CAMPA CAMPA SAME SA	714-05.108					-	15.00			
THE CASE CASE CASE ANNO 15,8400 15,8400 2,12500 3 1,9800 2,12500 1,9800 2,12500 1,9800 2,12500 1,9800 2,12500 1,9800 1,9										2,585.00
THOUSE CAMPE (IT CH ANNO)										
THOUSED CAREE (FC 990 ANDS)										
THE DIRECT MARKER & LANG SQUAD \$,0000 \$, 0000				_						
774-050-06										
714-06.1-16 70-06			48.000	EACH	\$ 8,410.00	-	The state of the s	\$ -		
TABLEST TABLE START METAL FALIDIC SPARS 10.00 SACH \$ 1,90.00 10.00 \$ 1,560.00 1		LIGHT POLE MATERIAL ONLY, FIXTURE TYPE B				-	3.00	\$ -		
THE ORDER THE	714-08-145		10.000	EACH	\$ 66.00	7	10.00	s -	8	10.00
14-40-205 SURF POLE INSTALLATION, PICTURE TYPES A AND B						 				10.00
714-6820S LIGHT POLE PROLADITION, FITURE TYPES A AND B 714-6920S BLOHT POLE PROLADITION, FUTURE TYPES A AND B 714-6920S BLOHT POLE REVIALATION, FUTURE TYPES A AND B 714-6920S BLOHT POLE PROLADITION FUTURE TYPES A AND B 714-6920S BLOHT POLE PROLADITION FUTURE TYPES A AND B 714-6920S BLOHT POLE PROLADITION FUTURE 714-6920S BLOHT FUTURE FUTURE FUTURE FUTURE FUTURE 714-6920S BLOHT FUTURE FUTUR	714-08,15S		10,000	EACH	\$ 196.00	- 1	10.00	\$ -	\$ 1,960.00	10.00
714-99.215 US-HI POLE RISTALIATION, FOTURE TYPES AAND 9	744 00 000		E4 000	FACU	4 400 00		45.00			
THAT	714-08.20S	LIGHT POLE FOUNDATION, FIXTURE TYPES A AND B	51.000	EACH	\$ 1,190.00	-	45.00	-	\$ 53,550,00	45,00
144-1066	714-08.215	LIGHT POLE INSTALLATION, FIXTURE TYPES A AND B	49,000	EACH	\$ 520,00	-	46,00		\$ 23,920,00	46.00
THAT-100 LIGHTING CONTING PAPERL, 200 AMP 3.00 EACH \$ 13,259.00						 				
714 35225 CONDUT RESERVAL SETUR-UP, COPETAGE SEMULTON 1000 [BACH] 8 198.00	THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TWO IS NAM									
14000 2600 3 38000 3 38000 3 38000 3 38000 3 38000 3 38000 3 38000 3 38000 3 38000 3 38000 3 38000 3 38000 3 38000 3 38000 3 3 38000 3 3 3 3 3 3 3 3 3								-		
Section Sect						-	3.00			
T904-1715 CABLE (ICLE 940 AMCE) 20000 LF. \$ 0.00						BUTION				
TRUM-11/15 CABLE (ILC SOM MCM]										
T904-2085 DRECT BURBL CONDUTT (2" PVC, SCHEDILLE 40) 15,095.000 1,195.						-				
T904-2095 ORECT BURBLA CONDUIT (\$"PVC, SCHEDULE 40] 15,996.00 15,996.0										
T90-42.193 RISER POLE CONDUT 1-4" (MTEMC DWG RP-1)										
TROUGH THE PRIVATE THE P			18,691.000	L.F.	\$ 6,90		13,639.00			
Fig. 2, 10 Fig	7 2 7 7 7 7 7								\$ -	
1904_2155 MITEMIC DWG RP-3 3,000 1,000 1,000 3 4,000 1,000	790-42.145		3.000	EACH	\$ 561.00	-	5.00		\$ 2,805.00	5.00
790-42.75 ENCASED CONDUTT 2-6 PMC SCHEDULE 40 192.000 LF. \$ 42.20	790-42.158		3.000	EACH	\$ 1,010.00	. !	4.00		\$ 4,040.00	4.00
790-42.95 SENCASED CONDUIT 46" PAYS SCHEDULE 40	790-42.178		192,000	LF.	\$ 42.20		112.00		\$ 4.726.40	112.00
790-4229S ENCASED CONDUIT 64° PVG SCHEDULE 40						-				
780-42258 RISER POLE STUBLIP - 3" CONDUIT			42.000	L.F.	\$ 94.10	-	-		\$ -	-
780-4228R SIRER POLE STUB-UP - 4" CONDUIT 9.000 EACH \$ 288.00 - 13.00 \$ 3.484.00 13.00 790-42.285 (ALT) PEDESTAL MAKE READY 11.000 EACH \$ 616.00 - 12.00 \$ 7.392.00 12.00 790-42.285 (TELEPHONE PEDESTAL MAKE READY 25.000 EACH \$ 407.00 28.00 \$ 10.682.00 12.00 790-42.285 (TELEPHONE PEDESTAL MAKE READY 25.000 EACH \$ 407.00 28.00 \$ 10.682.00 12.00 790-42.285 (TELEPHONE PEDESTAL MAKE READY 25.000 EACH \$ 407.00 28.00 \$ 10.682.00 12.00 790-42.285 (TELEPHONE PEDESTAL MAKE READY 25.000 EACH \$ 407.00 \$ 3.021.00 \$ 224.673.30 3.021.00 12.00 0.00						-				12.00
790-42.95 CAIV PERESTAL MAKE READY 11.000 EACH \$ 616.00 12.00 \$ 7.592.00 12.00 20.00						-				
760-42.265 TELEPHONE PEDESTAL MAKE READY 25.000 EACH \$ 407.00 - 26.00 \$ 10,682.00 28.00										
TRENCH TYPE A (ENCASED DUCT BANK WITH DIRECT BURIED CONDUITS) 3,407,000 LF. \$ 57.30 3,921.00 \$ 224,873.30 3,921.00 TRENCH TYPE B (DIRECT BURIED CONDUITS) 6,635,000 LF. \$ 55.10										
Table Tabl										
TRENCH TYPE & CIRECT BURIED CONDUITS	790-42.40S				\$ 57.30		3,921.00		\$ 224,673.30	3,921.00
PULL BOX, 48"LX 30"W X 38" D, ELECTRIC - "MTEMC 6.000 EACH \$ 1,740.00 - 4.00 \$ 8,690.00 4.00		TRENCH TYPE B (DIRECT BURIED CONDUITS)				-				
1,00 1,00	790-42.42S		1,210.000	L.F.	\$ 23.80	-	1,427.00		\$ 33,962.60	1,427.00
790-42.50 GONGRETE ENCASEMENTP24" 1.000 LF. 3 21.28	790-43.478		6.000	EACH	\$ 1,740.00	- 1	4.00	1	\$ 6,960.00	4.00
790-43.50S PULL BOX, 48"L X 30"W X 18" D, "CATV" LOGO 12.000 EACH \$ 1,500.00 - 24.00 \$ 38,000.00 24.00 700-32.51% CONORETE-ENCASEMENT-24" (4 & 6 DUCT) 1000 LEF \$ 22.43 1,580.00 \$ 39,439.90 31,580.00 700-43.51S PULL BOX, 60"L X 36"W X 18" D, "TELEPHONE" LOGO 1.000 EACH \$ 2,030.00 - 5.00 \$ 10,150.00 \$ 10,150.00 \$ 5.00 \$ 70.43.51S PULL BOX, 60"L X 36"W X 18" D, "TELEPHONE" LOGO 1.000 EACH \$ 1,0700.00 - 12.00 \$ 12.00 \$ 128,400.00 12.00 \$ 10,0			1.000	LF/S	\$ 2128		6.414.00	PULL SEASON SEASON		
780-42.51 CONGRETE ENCASEMENT 24" (4 & 6 DUCT) 1:000 LF \$: 22:43 1;680.00 \$: 35,439.40 1;680.00 \$ 790-43.51 PULL BOX, 60"L X 36"W X 18" D, "TELEPHONE" LOGO 1:000 EACH \$ 2,030.00 - 5:00 \$ 10,150.00 5:00 \$ 10,150.00 5:00 \$ 10,150.00 5:00 \$ 10,150.00 5:00 \$ 10,150.00 5:00 \$ 10,150.00 5:00 \$ 10,150.00 5:00 \$ 10,150.00 5:00 \$ 10,150.00 5:00 \$ 10,150.00 5:00 \$ 10,150.00 5:00 \$ 10,150.00 5:00 \$ 10,150.00 5:00 \$ 10,150.00 \$	790-43,50\$	PULL BOX, 48"L X 30"W X 18" D, "CATV" LOGO	12.000	EACH			24.00			
PRECAST CONCRETE MANHOLE, 12-0" L X 6"-0" W X 7-1" H 12.00 EACH \$ 10,700.00 - 12.00 \$ 128,400.00 12.00			1,000		\$ 22.43		1,680,00			
PRECAST CONCRETE MANHOLE, 12-0" L X 6"-0" W X 7-1" H 12.00 EACH \$ 10,700.00 - 12.00 \$ 128,400.00 12.00	790-43.51S	PULL BOX, 60°L X 36"W X 18" D, "TELEPHONE" LOGO	1.000	EACH	\$ 2,030.00	!	5.00		\$ 10.150.00	5.00
790-51.08 PRECAST CONCRETE BOX PAD FOR MTEMC THREE PHASE "FAD NO. 10" FOR MTEMC FOR										
PAGE PRECAST CONCRETE "PAD NO. 1" FOR MTEMC FACH F	790-43.52S		12.000	EACH	\$ 10,700.00	-	12.00		\$ 128,400.00	12.00
PRICAST CONCRETE "PAD NO. 1" FOR MTEMC 5.000 EACH \$ 1,600,00 - 10.00 \$ 16,000,00 10.00	700 60 090	BOX PAD FOUNDATION "BP-1" FOR MTEMC SINGLE-	9,000	FACL	\$ 1260.00	_	8.00		\$ 74000	0.00
THREE-PHASE TRANSFORMER	7 80-00,033	The state of the s	0.000		Y 1/270,00		0.00		φ /,440.00	0,00
1780-51.07S PRECAST CONCRETE BOX PAD FOR MTEMC THREE 17.000 EACH \$.666.00	790-51,06\$		5.000	EACH	\$ 1,600,00	- 1	10.00	1	\$ 16,000.00	10.00
PHASE "SECTOR" SWITCH										
PADMOUNTED SWITCHGEAR	790-51.07S		17.000	EACH	\$ 866.00	-	14.00	\$ -	\$ 12,124.00	14.00
PADMOUNTED SWITCHGEAR	790_61 nac		5.000	EACH	\$ 2,410,00	_	4.00		\$ 9840.00	400
790-51.10S EXISTING TELEPHONE MANHOLE TIE-IN 1.000 EACH \$ 1,400.00 - 2.00 \$ 2,800.00 2.00 790-51.11S EXISTING TRANSFORMER TIE-IN 1.000 EACH \$ 814.00 - 1.00 \$ 814.00 1.00 999-09.01S ELECTRICAL SERVICE REVISION TYPE 1 1.000 EACH \$ 2,020.00 - 1.00 \$ 2,020.00 1.00 999-09.02S ELECTRICAL SERVICE REVISION TYPE 2 1.000 EACH \$ 2,890.00 - 1.00 \$ 2,890.00 1.00 999-09.03S ELECTRICAL SERVICE REVISION TYPE 3 1.000 EACH \$ 5,330.00 - 1.00 \$ 6,330.00 1.00 999-09.04S ELECTRICAL SERVICE REVISION TYPE 4 1.000 EACH \$ 1,620.00 - 1.00 \$ 1,620.00 - 1.00 \$ 1,620.00 - 1.00 \$ 1,620.00 - 1.00 \$ 1,620.00 - 1.00 \$ 1,620.00 - 1.00 \$ 1,620.00 - 1.00 \$ 1,620.00 - 1.00 \$ 1,620.00 -										4,00
790-51.11S EXISTING TRANSFORMER TIE-IN 1.00 EACH \$ 814.00 - 1.00 \$ 814.00 1.00 999-09.01S ELECTRICAL SERVICE REVISION TYPE 1 1.00 EACH \$ 2,020.00 - 1.00 \$ 2,020.00 1.00 999-09.02S ELECTRICAL SERVICE REVISION TYPE 2 1.00 EACH \$ 2,890.00 - 1.00 \$ 2,890.00 1.00 999-09.03S ELECTRICAL SERVICE REVISION TYPE 3 1.00 EACH \$ 5,330.00 - 1.00 \$ 1,620.00 1.00 999-09.04S ELECTRICAL SERVICE REVISION TYPE 4 1.00 EACH \$ 1,620.00 - 1.00 \$ 1,620.00 1.00 999-09.05S ELECTRICAL SERVICE REVISION TYPE 5 1.00 EACH \$ 12,610.00 - 1.00 \$ 12,810.00 1.00										0.60
999-09.01S ELECTRICAL SERVICE REVISION TYPE 1 1.000 EACH \$ 2,020.00 - 1.000 \$ 2,020.00 1.00 999-09.02S ELECTRICAL SERVICE REVISION TYPE 2 1.000 EACH \$ 2,890.00 - 1.000 \$ 2,890.00 1.000 999-09.03S ELECTRICAL SERVICE REVISION TYPE 3 1.000 EACH \$ 5,330.00 - 1.000 \$ 5,330.00 1.000 999-09.04S ELECTRICAL SERVICE REVISION TYPE 4 1.000 EACH \$ 1,620.00 - 1.000 \$ 1,620.00 1.000 999-09.05S ELECTRICAL SERVICE REVISION TYPE 5 1.000 EACH \$ 1,620.00 - 1.000 \$ 12,810.00 1.000 999-09.05S ELECTRICAL SERVICE REVISION TYPE 5 1.000 EACH \$ 1,620.00 - 1.000 \$ 12,810.00 1.000 999-09.05S ELECTRICAL SERVICE REVISION TYPE 5 1.000 EACH \$ 12,610.00 - 1.000 \$ 12,810.00 1.000						-				
999-09.02S ELECTRICAL SERVICE REVISION TYPE 2 1.000 EACH \$ 2,890.00 - 1.00 \$ 2,890.00 1.00 999-09.03S ELECTRICAL SERVICE REVISION TYPE 3 1.000 EACH \$ 5,330.00 - 1.00 \$ 5,330.00 1.00 999-09.04S ELECTRICAL SERVICE REVISION TYPE 4 1.000 EACH \$ 1,620.00 - 1.00 \$ 1,620.00 1.00 999-09.05S ELECTRICAL SERVICE REVISION TYPE 5 1.000 EACH \$ 12,610.00 - 1.00 \$ 12,810.00 1.00										
999-09.03S ELECTRICAL SERVICE REVISION TYPE 3 1.000 EACH \$ 5,330.00 - 1.00 \$ 5,330.00 1.00 999-09.04S ELECTRICAL SERVICE REVISION TYPE 4 1.000 EACH \$ 1,620.00 - 1.00 \$ 1,620.00 1.00 999-09.05S ELECTRICAL SERVICE REVISION TYPE 5 1.000 EACH \$ 12,610.00 - 1.00 \$ 12,810.00 1.00			1.000	EACH	\$ 2,890.00					
999-09.05S ELECTRICAL SERVICE REVISION TYPE 5 1.000 EACH \$ 12,610.00 - 1.00 \$ 12,610.00 1.00	ano-U5,U20					-				
	999-09.03\$									
989-03.005 ELECTRICAL SERVICE REVISION TPE 5 1.000 EACH \$ 1,370.00 - 1.00 \$ 1,370.00 1.00	999-09.03S 999-09.04S	ELECTRICAL SERVICE REVISION TYPE 4	1,000	EACH	\$ 1,620.00					
	999-09.03\$ 999-09.04\$ 999-09.05\$	ELECTRICAL SERVICE REVISION TYPE 4 ELECTRICAL SERVICE REVISION TYPE 5	1.000 1.000	EACH EACH	\$ 1,620.00 \$ 12,610.00		1.00		\$ 12,610.00	1,00

ELECTRICAL SERVICE REVISION TYPE 7	1,000	FACE	E 1 880	nn I	1.00	1	T# 4.000.0	31 400
ELECTRICAL SERVICE REVISION TYPE 9			\$ 4,680.	00 -				
SIGNS (STOP, R1-1, UNIT PRICE BID INCLUDES ALL ITEMS NOTED IN SUPPLEMETAL DRAWING #1, PER	3,000	EACH	T		6.00		\$ 14,940.0	6,00
ADDENDUM # SIGNS (SPEED LIMIT-35 MPH, R2-1, UNIT PRICE BID								
DRAWING #1, SIGNS (LANE TAPER, W4-2R, UNIT PRICE BID								4.00
DRAWING #1, PER ADD	1,000	EACH	\$ 2,490.		1.00		\$ 2,490.00	1.00
INCLUDES ALL ITEMS NOTED IN SUPPLEMETAL DRAWING #1, PER	1.000	EACH	\$ 2,490.	- 00	1,00		\$ 2,490.00	1.00
SQUARE TUBE POST (2" MIN.) AND PAINTING SIGN BACK IN ACC	6.000	EACH	\$ 188.	. 00	6.00		\$ 1,128.00	6.00
SIGNS (NORTH, M3-1, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND PAINTING SIGN BACK IN ACC	2.000	EACH	\$ 188.	- 00	2.00		\$ 376.00	2.00
SIGNS (EAST, M3-2, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND PAINTING SIGN BACK IN ACCO	5.000	EACH	\$ 188.0	-	2.00		\$ 376,00	2.00
SIGNS (SOUTH, M3-3, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND PAINTING SIGN BACK IN ACC	4,000	EACH	\$ 188.0	-	4.00		\$ 752.00	4,00
SIGNS (WEST, M3-4, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND PAINTING SIGN BACK IN ACCO	2.000	EACH	\$ 188.0	-	2,00		\$ 376,00	2.00
SIGNS (END, M4-6, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND PAINTING SIGN BACK IN ACCOR	1.000	EACH	\$ 188,0	0 .	1.00		\$ 188.00	1.00
SIGNS (US-31, M1-4, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND PAINTING SIGN BACK IN ACC	4.000	EACH	\$ 945.0	о .	3.00		\$ 2,835.00	3,00
SIGNS (US-431, M1-4, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND PAINTING SIGN BACK IN AC	4.000	EACH	\$ 3,110.0	0 -	4.00		\$ 12,440.00	4.00
SIGNS (SR-96, TN-6C, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND PAINTING SIGN BACK IN AC	6.000	EACH	\$ 2,030.0	0	6.00		\$ 12,180.00	6.00
SIGNS (HISTORIC, RS, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND PAINTING SIGN BACK IN AC	1.000	EACH	\$ 3,030.0	-	2.00		\$ 6,080.00	2.00
SIGNS (ARROW RT., M6-1, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND PAINTING SIGN BACK IN	2.000	EACH	\$ 189.0	-	3,00		\$ 567,00	3.00
SIGNS (STREET NAME (VARIES), D3-1, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND	4.000	EACH	\$ 2,490.0		1.00		\$ 2,490.00	1.00
SIGNS (ARROW HOSPITAL, M6-3, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND PAINTING SIGN BA	1.000	EACH	\$ 188.0		1.00		\$ 188.00	1.00
	8,000,8	EACH	\$ 2,460.0	-	8.00		\$ 19,680.00	8.00
SIGNS (NO SKATEBOARDS, R5-5, UNIT PRICE BID INCLUDES ALL ITEMS NOTED IN SUPPLEMETAL DRAWING #1, PER	1.000	EACH	\$ 3,110.0	-	1,00		\$ 3,110.00	1.00
SIGNS (NO TRUCKS, R14-5, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND PAINTING SIGN BACK I	2.000	EACH	\$ 3,110,0		2.00		\$ 6,220.00	2.00
	2.000	EACH	\$ 227.0	-	2.00		\$ 454,00	2.00
SIGNS (ARROW (LEFT/STRAIGHT), M6-6, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND	1.000	EACH	\$ 188.0	-	1.00		\$ 188.00	1.00
SIGNS (ARROW (RIGHT/STRAIGHT), M6-6, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MINL)	1.000	EACH	\$ 188.0	-	1.00		\$ 188.00	1.00
SIGNS (HAZARDOUS MATERIAL, R14-2, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND	2.000	EACH	\$ 3,110.0	-	2,00		\$ 6,220,00	2.00
SIGNS (NO HAZARDOUS MATERIAL, R14-3, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.)	4.000	EACH	\$ 378,0		3.00		\$ 1,134.00	3.00
SIGNS (JCT, M2-1, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND PAINTING SIGN	1.000	EACH	\$ 188.0		1.00		\$ 188.00	1.00
SIGNS (ARROW LEFT, M5-1, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND	1.000	EACH	\$ 188.0	-	1.00		\$ 188,00	1.00
SIGNS (ARROW RIGHT, M5-1, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND	2.000	EACH	\$ 188,0		2.00		\$ 378,00	2.00
SIGNS (RIGHT TURN MUST TURN RIGHT, R3-7, UNIT PRICE BID INCLUDES ALL ITEMS NOTED IN	1.000	EACH	\$ 2,460.0		1.00		\$ 2,460.00	1.00
SIGNS (ARROW STRAIGHT, M6-3, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND	1.000	EACH	\$ 188.0		8.00		\$ 1,504.00	8.00
	ELECTRICAL SERVICE REVISION TYPE 9 SIGNS (STOP, R1-1, UNIT PRICE BID INCLUDES ALL ITEMS NOTED IN SUPPLEMETAL DRAWING #1, PER ADDENDUM # SIGNS (SPEED LIMIT-35 MPH, R2-1, UNIT PRICE BID INCLUDES ALL ITEMS NOTED IN SUPPLEMETAL DRAWING #1, SIGNS (SPEED LIMIT-35 MPH, R2-1, UNIT PRICE BID INCLUDES ALL ITEMS NOTED IN SUPPLEMETAL DRAWING #1, SIGNS (LANE TAPER, W4-2R, UNIT PRICE BID INCLUDES ALL ITEMS NOTED IN SUPPLEMETAL DRAWING #1, PER ADD SIGNS (TRANSIT STOP, R7-107, UNIT PRICE BID INCLUDES ALL ITEMS NOTED IN SUPPLEMETAL DRAWING #1, PER ADD SIGNS (TRUCK, M4-4, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND PAINTING SIGN BACK IN ACC SIGNS (NORTH, M3-1, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND PAINTING SIGN BACK IN ACC SIGNS (EAST, M3-2, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND PAINTING SIGN BACK IN ACC SIGNS (SOUTH, M3-3, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND PAINTING SIGN BACK IN ACC SIGNS (SWEST, M3-4, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND PAINTING SIGN BACK IN ACC SIGNS (END, M4-6, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND PAINTING SIGN BACK IN ACC SIGNS (SUS-31, M1-4, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND PAINTING SIGN BACK IN ACC SIGNS (US-31, M1-4, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND PAINTING SIGN BACK IN ACC SIGNS (SS-96, TN-9C, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND PAINTING SIGN BACK IN AC SIGNS (SR-96, TN-9C, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND PAINTING SIGN BACK IN AC SIGNS (SR-96, TN-9C, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND PAINTING SIGN BACK IN AC SIGNS (SR-96, TN-9C, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND PAINTING SIGN BACK IN AC SIGNS (SR-96, TN-9C, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND PAINTING SIGN BACK IN AC SIGNS (SIGNE (SOR SECOND SEC	ELECTRICAL SERVICE REVISION TYPE B ELECTRICAL SERVISION TYPE B ELECTRICAL SERVICE REVISION TYPE B ELECTRICAL SERVISION TYPE B ELECTRICAL SERVICE SERVISION TYPE B ELECTRICAL SERVISION	ELECTRICAL SERVICE REVISION TYPE 8	ELECTRICAL SERVICE REVISION TYPE B	ELECTRICAL SERVICE REVISION TYPE 8	ELECTRICAL SERVICE REVISION TYPE 8	ELECTRICAL SERVICE REVISION TYPE 9	ELECTRICAL SERVICE REVISION TYPE 9

999-16.72	SIGNS (ARROW LEFT, M6-1,UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND PAINTING SIGN BACK IN	2,600	EACH	\$ 188.00	р	2.00		\$ 376,00	2.00
999-16.73	SIGNS (HOSPITAL, D9-2, UNIT PRICE BID INCLUDES SQUARE TUBE POST (2" MIN.) AND PAINTING SIGN	1.000	EACH	\$ 378.00		1,00		\$ 378.00	1.00
	BACK IN		<u> </u>	1755 114 755					
706 04 04	4IN DIP RESTRAINED JOINT WATER LINE	75,000		ATED WATER					
795-01.01 795-01.03	6IN DIP RESTRAINED JOINT WATER LINE	75.000 390.000		\$ 53,50		995.00		\$ -	
795-01.05	8IN DIP RESTRAINED JOINT WATER LINE	65,000		\$ 57.00 \$ 64.20	-	365,00		\$ 20,805.00	365,00
795-01.09	12IN DIP RESTRAINED JOINT WATER LINE				<u> </u>	157.00		\$ 10,079.40	157.00
795-01.05	18IN DIP RESTRAINED JOINT WATER LINE	85,000		\$ 95.50		94.00		\$ 8,977.00	94.00
795-01.16	18IN DIP SLIP JOINT WATER LINE	1,210.000 2,260.000		\$ 170.00	-	1,139.60		\$ 193,732.00	1,139.60
795-06.03	CONNECT TO 4IN WATER LINE		EACH	\$ 135,00 \$ 513,00		2,534.50		\$ 342,157.50	2,634.50
795-06.04	CONNECT TO SIN WATER LINE	4.000				0.00		\$ -	-
795-06.05	CONNECT TO BIN WATER LINE	1,000			 	6.00 1.00		\$ 5,346.00	6.00
795-06.07	CONNECT TO 12IN WATER LINE	1,000				2.00	*	\$ 1,070,00	1.00
795-08.10	CONNECT TO 18IN WATER LINE				<u> </u>	1.00		\$ 2,320.00	2.00
795-07.15	12IN X 12IN TAPPING SLEEVE AND VALVE		EACH		 	1.00		\$ 2,320.00	1.00
795-08.01	2IN GATE VALVE ASSEMBLY		EACH			2.00		\$ 6,820.00	1.00
795-08,04	6IN GATE VALVE ASSEMBLY		EACH		-	13.00		\$ 2,080.00	2.00
795-08.05	8IN GATE VALVE ASSEMBLY		EACH			1.00		\$ 12,779.00	13.00
795-08.08	12IN BUTTERFLY VALVE ASSEMBLY	1.000	EACH			2.00		\$ 1,340.00	1.00
795-08.09	12IN GATE VALVE ASSEMBLY	1,000	EACH		-	1.00		\$ 4,260.00	2.00
795-08.15	18IN BUTTERFLY VALVE ASSEMBLY	5.000	EACH		-	5.00		\$ 2,370.00	1.00
795-09.01	3/4IN WATER SERVICE METER ASSEMBLY	17.000	EACH		-	24.00		\$ 21,750.00	5,00
795-09.04	2IN WATER SERVICE METER ASSEMBLY	3,000	EACH		· · ·	3.00		\$ 12,096.00	24.00
795-09.09	RELOCATE/RECONNECT SERVICE ASSEMBLY		EACH			20.00		\$ 7,980.00	3.00
795-09.12	2IN COPPER SERVICE PIPE	75.000	-	\$ 56.90	-	88.00		\$ 8,920.00	20,00
795-09.28	3/4IN COPPER SERVICE PIPE	940,000		\$ 30.70	-	1,703.00		\$ 6,007.20	88.00
795-10.05	2IN AUTO AIR RELEASE VALVE ASSEMBLY	1.000	EACH			1,700.00		\$ 52,282.10	1,703.00
795-11,02	FIRE HYDRANT ASSEMBLY	4,000	EACH			5.00		\$ - \$ 24.950.00	-
795-12.01	REMOVE FIRE HYDRANT		EACH			3.00			5.00
795-12.02	REMOVAL OF EXISTING LINE	1.000		\$ 2,380.00	-	1.00		\$ 1,782.00 \$ 2.380.00	3.00
	DI FITTINGS	16,565,000		\$ 3.80		12,745.00			1.00
	CLASS B CONCRETE		_	\$ 149,00		47.50		\$ 48,431.00 \$ 7,077.50	12,745.00
	CONCRETE ENCASEMENT/CAP			\$ 65.20	-	10,00		652.00	47.50
	RESTORE ASPHALT			\$ 143.00		15,55			10.00
	RESTORE CONCRETE			\$ 66,50	-	42.00		2,793.00	42.00
95-15.01	CUT, CAP AND ABANDON EXISTING 4IN WATER LINE	1.000	EACH			2.00			2.00
95-15,02	CUT, CAP AND ABANDON EXISTING 6IN WATER LINE	4.000	EACH	\$ 955.00	-	5,00		4,775.00	5.00
95-15.03	CUT, CAP AND ABANDON EXISTING 8IN WATER LINE	1,000	EACH	\$ 988.00			1		_
95-15.04	CUT, CAP AND ABANDON EXISTING 12IN WATER	2.000	EACH	\$ 1,250.00	_	7.00			7.00
95-05.59	LINE 12IN PVC GRAVITY SEWER 6FT - 12FT DEPTH	355.000	LF.	0 444.00		000.00			
	18IN FSP GRAVITY SEWER OF 1 - 12FT DEPTH			\$ 114.00		369.00	\$	42,066.00	389.00
	18IN FSP GRAVITY SEWER 12FT - 18FT DEPTH	510,000 690,000		\$ 262,00 \$ 255.00	-	670.00	7		570.00
	48IN MANHOLE 8FT - 10FT DEPTH		-	\$ 3,730.00		690.00	\$ - \$		690.00
	48IN MANHOLE 10FT - 12FT DEPTH			\$ 3,960.00		2.00	\$	-,, -00,00	1.00
	48IN MANHOLE 12FT - 14FT DEPTH			\$ 5,460.00		3.00	\$.,	2.00
	6" PVC PIPE FOR SERVICE LATERAL	515.000		\$ 39.10	-	1,162,00	- 5		3,00
	B" CLEAN OUT ASSEMBLY	11,000				15.00	\$		1,162.00
	CONNECT 10-18IN SEWER TO EXISTING MANHOLE		EACH			1.00	\$		15.00
	CONNECT 6" LATERAL TO SEWER LINE	11,000				18.00	\$		1,00
	CONNECT EXISTING 8IN SEWER TO NEW MANHOLE		EACH			2.00	\$		18.00
97-10 10	CONNECT EXISTING 10-18IN SEWER TO NEW MANIHOLE		EACH			2.00	\$		2.00
		2,000	EACH	\$ 668.00		2.00			
			L/MALL I	000.UU	·	3.00	\$	2,004.00	3.00
97-11.25	RETIRE IN PLACE 48" MANHOLE REMOVE EXISTING SEWER 8IN - 14IN			9 70	. 1	Egg nn		C 400 - 2	
97-11.25 97-11.35	REMOVE EXISTING SEWER 8IN - 14IN	536,000	L.F.	\$ 9,70 \$ 18.60	-	536.00	\$		536.00
97-11.25 97-11.35 97-11.36	REMOVE EXISTING SEWER 8IN - 14IN REMOVE EXISTING SEWER 15IN - 24IN	538,000 458,000	L.F.	\$ 18.60	-	538.00	\$	10,006.80	538,00
97-11.25 97-11.35 97-11.36 97-11.38	REMOVE EXISTING SEWER 8IN - 14IN	538,000 458,000	L.F. : L.F. : L.S. :		-			10,006.80 13,030.00	